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Q.No: 1
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Match the Bone in column A with the Joint it contains in column B.

A B
1. HipBone a. Kneejoint
2. Femur b. Hipjoint
3. Tibia c. Anklejoint
4. Tarsus d. Tibiofibularjoints
HiaH A H 531 B Pl B H Uigg s ¥ s
A B
1. HeghIgsst a. geAHIAS
2. B b. Heg HIlS
3. fefemn c. TEAHIAS
4. TREY d. fefaaThder S5

1-b, 2-a, 3-d, 4-c

1-b, 2-a, 3-d, 4-c
1-a, 2-b, 3-d, 4-c

1-a, 2-b, 3-d, 4-c
1-c, 2-a, 3-d, 4-b

1-c, 2-a, 3-d, 4-b
1-b, 2-c, 3-d, 4-a

1-b, 2-c, 3-d, 4-a

Correct Ans : A

Subject : GN-A

Q.No: 2
3011016

Find the incorrect match.

e A @

Proximal row-Talus

wfiuwy ufdT - are

Proximal row-Calcaneus

TR U - Hepa

Distal-Lateral Cuneiform

-y - FgfeTd

Proximal-Medial Cuneiform

Submit


https://mppeb.cbexams.com/MPPEB_Cand_Objections/Nursingcandresponsesheets2024oct_admin/View_Challenge_Items.aspx
https://mppeb.cbexams.com/MPPEB_Cand_Objections/Nursingcandresponsesheets2024oct_admin/View_Challenge_Items.aspx
https://mppeb.cbexams.com/MPPEB_Cand_Objections/Nursingcandresponsesheets2024oct_admin/OBJReport_New.aspx
https://mppeb.cbexams.com/MPPEB_Cand_Objections/Nursingcandresponsesheets2024oct_admin/ViewCandResponse.aspx
https://mppeb.cbexams.com/MPPEB_Cand_Objections/Nursingcandresponsesheets2024oct_admin/printpdf.aspx
https://mppeb.cbexams.com/MPPEB_Cand_Objections/Nursingcandresponsesheets2024oct_admin/ViewCandQNO.aspx
https://mppeb.cbexams.com/MPPEB_Cand_Objections/Nursingcandresponsesheets2024oct_admin/View_Challenge_Items_Extra5percent.aspx
https://mppeb.cbexams.com/MPPEB_Cand_Objections/Nursingcandresponsesheets2024oct_admin/printpdf_Extra5percent.aspx
https://mppeb.cbexams.com/MPPEB_Cand_Objections/Nursingcandresponsesheets2024oct_admin/logout.aspx
https://mppeb.cbexams.com/MPPEB_Cand_Objections/Nursingcandresponsesheets2024oct_admin/Final_Model_Answer.aspx

FHiow-Aw - FgAwHTH

Correct Ans : D

Subject : GN-A

Q.No: 3 Which of the following is not the origin of Vastus medialis?
3011019

Frofifed § & o1 ang Afarfe #t Safy 78 82

Lower part of medial supracondylar line

A
HfEaa gurpTsEeR AT BT e um
Lateral lip of gluteal tuberosity
B
e qERIRiel 1 urf s
Medial lip of linea aspera
C
frferar TeiRT @1 3T & @1 gie
Upper one fourth of medial supracondylar line
D

I TS B GUIP TSR 3T BT HUWT TP YT URT
Correct Ans : B
Subject : GN-A

Q.No: 4  Read the paragraph carefully and answer the question below.

3011020
Systolic blood pressure denotes the extreme pressure that may be logged in arteries during ventricular systole. The normal range could vary
from 100 to 140mm Hg in an adult aged twenty years and 120 mm Hg is the mean pressure. Diastolic blood pressure is the lowest pressure
that may be logged in the arteries during ventricular diastole. The normal range could vary from 60 to 90 mm Hg in an adult aged twenty years
and 80 mm Hg is the mean pressure. The difference between systolic and diastolic pressure is referred to as Pulse pressure.

Accordingly, what would be the difference/ pulse pressure if we consider the mean pressures for both?

WA &I o ¥ ¢ 3R = fow 7T uy &1 3w <1

Rreifere Yo sicafiie gaTd &I gxiar § o dfieper Rieia & R vmfadl & 511 81 Uahan 31 i Y &) oy & gove o W Wigr 100 & 140 fieft washt
s st 8 Wehdll @ 3R 120 firedt weelt Sird comd 31 SRR Yaaard ¥ B cald § S dpeR SR & SR yHfal & @i 8 Gebdl 81 19 oy Bt g
F g% B gy P 60 F 90 firedt waeh o i € et ® SR 80 it Tl ofid qaTa B1 Reifve ofR SRRAIfie gaTd & o9 & SfcR 1 U ga1d el
ST 21

TEIUR, A g9 3 & 3NYd ga1d W IR Y Y Sick/Ued aTd 1 §HT?
80 mmHg

80 fiprft washt
120 mmHg

120 firft gl

40 mmHg

40 foft Tasht

140 mmHg

140 et Tasht
Correct Ans : D

Subject : GN-A

Q.No: 5  Which of the following procedures a small rotating blade is used to cut away the deposited fat?
3011021

Froffad & & e uftrar & 51 a9 3 Bled & RN T S0 guiH <8 ST STIRT fHar ST 82

A Rotational Atherectomy



i gt

Excimer laser angioplasty

B
TfRR Ao TRt
Directional Atherectomy
C
femer® it
Intracoronary radiation
D

R fafRor
Correct Ans : C

Subject : GN-A

Q.No: 6 Which of the following Koch's Postulate was proved to be true when he injected cells from the pure culture of M. tuberculosis into guinea pigs?
3011029 The guinea pigs subsequently died of tuberculosis.

ol & 3 SH-T1 B B YR TE WA g 99 S TH. JRGANRN & Y& Jad I i firw & Firei o1 doe frare arg & e frg 3t
TRew & 9 & T

The microorganism must be present in every case of the disease but absent from healthy organisms.

A
1 F &% A A Yeerella Hiee T AfeT Afe Wy Sfitel @ srgufa g anfeu
The suspected microorganisms must be isolated and grown in a pure culture.
B
Tfery geaeial 1 sra fra ST AR SR Uw Y Tad & I @ 9kl
The same disease must result when the isolated microorganism is inoculated into a healthy host.
C
At Ut 1 uRomy 99 ST AR 99 gUF Gl B U T AerarE B ST aimn ST gl
The same microorganism must be isolated again from the diseased host.
D

I gemetla B iy A Amea dius | sra far i arfikel
Correct Ans : C

Subject : GN-A

Q.No: 7 Which of the following microscope allows a viewer to observe living, unstained cells and organisms by simply changing how they are
3011030 jjjyminated?

Fofifad & 3 P9 91 AREReY aRia Y Sifad, < fed SR ok Sial B Fad ITe! A B TeadR @ B AR IaT 82

Dark-field microscope

A
STH-Wies AIFHRDIT
Phase-Contrast Microscope
B
Scanning tunnelling microscope
C
T el Argway
Fluorescence Microscope
D

it/ RIS wgws
Correct Ans : A

Subject : GN-A



Q.No: 8  Which factor in a plasmid contains genes that direct the formation of sex pili that attach hairlike structures called pili and can transfer copies of

3011031 themselves to other bacteria during conjugation?
S # 59 HRe # T o g § off I et & 13 1 AR a8 o et e arelt it Teedl 1 Sirsd € oIk W & dRM ge 31 ufad 31 o=y
SFffar & RIFART #R THd §?
R factor
A
3R/R PR
C factor
B
#/c vrw
P factor
C
H/p aR®
F factor
D
U6 /F dRE

Correct Ans : D

Subject : GN-A

Q.No: 9  Which membrane size removes most vegetative cells but not viruses?
3011039

DI T el SR Sfesier FRufay HIRBTSH H gerdn § b arRa & Tdl?

0.2 nm
A

0.2 nm

0.2 um
B

0.2 pm

0.02 nm
C

0.02 nm

0.02 pm
D

0.02 pm

Correct Ans : B

Subject : GN-A

Q.No: 10 Attractants and repellents are detected by which of the following?
3011042

Frofafaa & 3 f5ad gRT By SR fAs¥e BT uar @ Wi 82

Organoreactors
A

Georeactors
B

Radioreceptors
C

Ao

D Chemoreceptors



FARRATR

Correct Ans : D

Subject : GN-A

Q.No: 11
3011045

What can be interpreted by the drawing given below?

=t few T e & R IHE o FehaT 87
Fal

)

o

Drawing by a 25-year-old schoolteacher after becoming engaged. Previously, she had entered psychotherapy because of
problems relating to men and a block against getting married. The position of the hands was interpreted as indicating a fear of
sexual intercourse.

TS & 91¢ U 25 qiig Tpa e gR1 REe | tgd, 399 qoul & Jdfid Tawnsil sk 2Mdl #37 & vhrde & SR gAiafeen § yasn fear ot i
¥ RS Bt e WU F SR $T Thd 31 & T F B W)

Drawing by a male with a “"Don Juan” complex—a woman who pursued one affair after another.

ST G FIATH 1A TF YU GRT R0 - TF AR &t TF & 916 TP (haR It g

Drawing by an authoritarian and sadistic male who had been head disciplinarian of a reformatory for boys before he was
suspended for child abuse.

o TEErE) R Whes g gR1 Rif¥d, St are v & g Prefyd @9 § 1ed des! & RiIT te QURTE ST 7E Sgras ol

This drawing by an acutely paranoid. “The savage mouth expresses the rage-filled projections loose within her. The snake in the
stomach points up er delusion of a reptile within, eating away and generating venom and evil.”

g o v oria faféra safe g a=man man 31 it e Sud Wiar Ga Wiy A WY AT B ad $eal 2l Ue | TiU 3R TP AU F Y9 B 3R
TIRT e 3, S @1 ¥ET § 3R o 3R R Jar dR <@ 31

Correct Ans : A

Subject : GN-A

Q.No: 12
3011046

A statement and its example are given below, find about the correctness of the statement and its example.

Statement: The linguist Benjamin Lee Whorf and the anthropologist Edward Sapir suggested that the language people used determined their
perception of the world and consequently their thoughts.

Example: The Hopi language has no grammatical forms, constructions, or words for time. This suggests that the Hopi do not think about the
time in the method we do. They also have no separate words for insect, airplane, or pilot.

TH FY IR ITDT ISR A e 71 §, HuF B Yl SR SHD IR0 B IR F Tl B

FHY: WA S ot @b 3R THafaR Tsas R 3 Ja fear i Al gRT SudiT &t 9 arelt 4ToT gfaT & R # IFe! 4R 3R URURaSY 37
Rt &1 e =t 21

JeTeRu: it Ut H THE & R B arenkivnes &4, Fufor a1 Seg AT 81 S99 U Tadl @ 6 g gER gRT T e ol & uma & IR # e Wied §1 3% U™
P, gars WeTS 1 UIIee Y P 31T Wed TG B

Both the statement and example are correct and the example supports the statement.



FYF 3R ISTERVT ST T & 3R ITERVT B BT w0 Tl 7

Both the statement and example are correct but the example does not support the statement.

B
FY 3R ISR ST Tl § AP eTexT HY BT qHYA T Fa B
Statement is incorrect.
C
FYT A B
Both statement and example are incorrect
D

FYF 3R IR0 ST & S §
Correct Ans : A
Subject : GN-A

Q.No: 13 What is not true for ASPD?

3011047
ToadtE! & forg @ wE T B
Individuals with ASPD can be seductively charming and may declare a commitment to change, but they often lack sufficient
motivation.

A

TTafiE] ara afd Srpde U A srhd® 8 Aod & 3R TRady & iy ufaagar # 9ivon &R Jed §, A 379 3R yaie IR @t wt gt 81

Patient’s declarations of desire to change will never be dishonest.

B

I gRT 9aard Pt g1 B ghyon s +Ff €A T i

Patients will also fail to appreciate the future costs associated with antisocial acts.
C

M srTAIRTE Foal | F1 HiTss Ft arTal T WRIE I A ft fIva @

Patients may stay in treatment only as required by an external source, such as a parole.
D

I Faa e W, I Wi gRT ATa0S g1 W & IR A 38 94 8
Correct Ans : B
Subject : GN-A

Q.No: 14 Which of the following is an important work of Henry Lewis Morgan?
3011055

Froffed &  BF @ 1) g58 w9 @1 T Aeayyl i 87
A History of the Life and Voyages of Christopher Columbus

A
FrEIBR Sidad & sita= 3R el &1 sfog™
Systems of Consanguinity and Affinity of the Human Family
B
AT URAR $t YqRey AR el #t yonfat
The Old Regime and the Revolution
C
R ogawT 3R wify
Benjamin Franklin: An American Life
D

Yot Srefer: va sARe shaw
Correct Ans : B

Subject : GN-A

Q.No: 15 Which of the following marked a turning point in the history of the human struggle for ‘liberty, fraternity, and equality’?
3011056



Froffaa & & frem @daar, $Yd R IuHar & e e ud & sfie # te deagt Ais & fafgad feare

Green revolution

A

sha wifa

Industrial revolution
B

enfire wifa

White revolution
C

& wifa

The French Revolution
D

IR wifa
Correct Ans : D
Subject : GN-A

Q.No: 16 Europe produced a ‘scientific revolution’ in the Renaissance period of which centuries?
3011057

TG 7 o 2rTed) & AR T § UF 311G wifar H1 FHafor fmare

Fifteenth to sixteenth-century

A
UgEdl 9 Hergdl raredt
Seventeenth to eighteenth-century
B
waedl § IoREd! TaTedt
Fourteenth to sixteenth-century
C
Hegdl & Heedt A
Sixteenth-century to eighteenth-century
D

Hiegdt ¥ EREd arsdt
Correct Ans : C

Subject : GN-A

Q.No: 17 Which of the following is an example of Oral or Spoken Communication?
3011065

Frofifed & 3 o9 9ie® o1 9Ie® J9R BT a6 87

Email
A

ELl

Newspaper
B

HHMR 99

Telephonic conversation
C

THBH W arada

SMS (Short Message Service)
D

THTATH (SMS) (7 o dar)
Correct Ans : C
Subject : GN-A



Q.No: 18

Which type of communication uses messages to generate meaning between at least two people in a situation that allows mutual opportunities

3011068 for poth speaking and listening?

59 YR &1 GaR I BT IYA BXb BH § HH &l il & ata 31 Iaaw e ¢, T Ry & Rl aem oik g7 @Al & Rl ureafves 3rawR €1 82

Interpersonal Communication

TRER®/ Sddufaas AR

Presentational Communication

TERIHR TR

Intermission Communication

TR AR

Intercommunicative Communication

SAHAR HAR

Correct Ans : A

Subject : GN-A

Q.No: 19
3011071

Analyse the following conversation and identify which of the following options is not an impact laid upon by the friend.

Michael: I've been worried about my studies just lately — I don’t think I'm doing very well. Perhaps I should find out whether I could change to
another subject. What do you think?

Friend: You shouldn’t worry so much, I'm sure you're doing fine. The first year is always pretty boring and lots of people fail essays. I've been
finding it difficult to get down to work myself but, after all, we have only just started. Anyway, don't let it get you down - there’s a good film on
tonight, do you fancy going to see it?

Fafifad ardfem &1 fazaw &% iR Ugar & & Pufifed & @ o9 a1 fawe e grr faffa gwme 7= 8

uHe: F TG & F U Ugr B o Rifdd U1-g9 TS el i § 9gd oresT ) X1 | G S I8 U @ 91iey b o & guk v § sedt e g1
ST AT T §?

GIRE: SMTU! S FRfar &Y B TRY, AR g & & 9y i 8 @ §1 U e gHR 9gd a1 al 8 IR 9gd 9 ARt et # e € 9 ¥ 99 ge e
A B GRwpd g € 8, b SMRRPR, 5o ot ama & 3 31 3 o, 3/ e FRr=r 1 9 F-o111 Id U St e B, 7T oY 38 R ST UG R
B2

Reassurance

SIECIGES

Encouragement

LG

Well-meant advice

dF/ St qaE

Delusion

uHq

Correct Ans : D

Subject : GN-A

Q.No: 20
3011072

Analyse the conversation given below and find which of the following options does not convey the father’s sentiments.
Michael: Well, I, uh, ... There's been something worrying me recently ... I've been thinking about changing courses.
Father: What do you mean ‘change courses’, you've only just started - I've never heard such rubbish!

Michael: But I just can’t concentrate. I've been getting bad marks.

Father: Well, you should think it over very carefully but I don’t see the point of giving up so soon. The trouble was that everything was too
easy for you at school. Now you have to work a bit harder if you don’t like it and want to give up straight away. No, you should keep at it for at



least a year and then see. Everybody has setbacks, you know, you will.

F2 @ 7 a1 BT Ao H¥ 3R gar H o Fufiied ¥ § 19 91 fwed R Bt urarel i wed T6¥ a2
AEFA: W, F, I5,... T4 & A 92 $© [ & @ 2.... F Uroushy 9gad F aR H G @1 g

fT: STuT T HAed ¥ "UTewshH Fact, SMu s S € Bt 377 T sward w7 g

UIgHE: Afee & &I Ffod S IR TPl G TR 3 B 2§

forem: S &, SMUe! $9 R 950 &M F Qa1 AT AP T 30 et §R MR &1 B Aaerd et feganl R 7 2Rt i g & smuss for ve o s
ST AT| 3§ AP It TeTd B BRI 3R MTDB! T TG el & SR 3T I R HH o1 16 &1 e, 3! 3 HH I HH U T1el a9 T MY 3R
R 3 TIfRu &R et Bt SRt St §, 3T WFa €, o S

You should not change your mind once you've made a decision.

A
% aR fofa 87 & 918 Smuw! 3uAT 7 AE age a1l
Once you have started something you should keep at it.
B
T IR 99 31U $ Y& PR &d & dl IS I AU URT TG AR
You should be able to cope with disappointment.
C
ST FARTIT BT AT F3A | & g1 ATl
One should keep on going with the flow.
D

YaTE & WY Ted @1 AT

Correct Ans : D

Subject : GN-A

Q.No: 21 Which of the following is an example of channels through which television messages can be received?
3011073

i & 3 9 91 0 $T IR0 ¢ R T F TohfoH e T fhu o gad 82

Nichrome wires

A
[REZEEIN
Micro waves
B
qem aat
Radio signals
C
X R
Sound waves and light waves
D

Correct Ans : D

Subject : GN-A

Q.No: 22 Which of the following is not a disaccharide?

3011081
Frofafed & & o @1 SEdeEs Td 82
Sucrose
A
Rl
Galactose
B
RCESES

C Maltose



e

Lactose

EEGE]

Correct Ans : B
Subject : GN-A

Q.No: 23 Which of the following refers to the ability of fibre to bind water?
3011082

i & 3 P9 91 GRS F UE B ST B e B Gefiid Har 87

Fermentability

A
fpua grar
Adsorption ability
B
SETYOT &
Water holding capacity
C
STel YIRUT &HdT
Solubility in water
D

ERERGERICGH
Correct Ans : C

Subject : GN-A

Q.No: 24 Which of the following proteins is not globulin?

3011083
Frofafed # & S a1 Wida sy e 82
Arachin
A
wiRA
Serum globulin
B
HiRA ety
Tuberin
C
Eia
Serum Albumin
D

R vy

Correct Ans : D
Subject : GN-A

Q.No: 25 Application to limited areas on which insects are likely to occur, but which will not be in contact with food or utensils and will not ordinarily be
3011091 (ontacted by workers is done by which treatment?

W &5 B TT5T PIet & T B JUIG 7, A S IS a1 el F U B 7T g SR AR R ifiept & Tudh & &Y omed, fry Iu=R gRT faan wmar 2

Spot treatment

Wie ITAR

B General treatment



U SUAR

Crevice Treatment

R ITEAR

Space Treatment

T SUER
Correct Ans : A
Subject : GN-A

Q.No: 26 Which sheet appears as underlined in a gradient version of the selected colour?
3011097

B @ e Tafa o1 F Aete wexu § aied e & 82

Closed sheet

A
dg fle
Active sheet
B
wfea e
Inactive sheet
C
ffSra e
Dormant sheet
D

g e
Correct Ans : B

Subject : GN-A

Q.No: 27 Which button is used to move one cell to the right?
3011098

TP 9d Bl % 3R A S & AT 69 ge &1 IuanT fpan o 82

Tab
A
24 (Tab)
Home
B
g
F5
c
F5
End
D
T (END)

Correct Ans : A
Subject : GN-A

Q.No: 28 Which of the following is worn to protect your clothes and body from splashes and sprays of blood and body fluids?
3011107

FrofiEd & 3 P 91 0% FUST AR IR B T 3R IR & R el & Fgea § 99 F g ug=r o 22
A Masks



HRSD

Gloves
B
[AIE|
Gowns
C
RlcE )
Eyeglasses
D
I=RAT

Correct Ans : C
Subject : GN-A

Q.No: 29 Which command in the Number group on the HOME tab contains a drop arrow that provides a gallery of the more commonly used number
3011108 formats?

B 29 R AR T F P W s A 31U W &l & ot 31 JrErga: SUE fhY S ard HeR Wife B e e P 82

Font
A
BT
Number Format
B
R wide
Reshuffle
C
ki)
Series
D
GiNc]

Correct Ans : B
Subject : GN-A

Q.No: 30 What is referred to as the absence of the low-level contractions that lead to muscle tone?
3011123

-wdT I 3 uRfd & w0 F 1 Yehia far ST & o waRREt F S BT SR I 82

Hypotonia
A

HELICIEE ]

Hypertonia
B

BIgREIrar

Isotonic
C

TgHIES

Hyperreflexia
D

TR

Correct Ans : A

Subject : GN-A

Q.No: 31 Which of the following is not a function of the hormone released by the parathyroid gland?
3011124



Fofifad & F o 1 Riuriss 9 gR1 Afdd g &1 $rf e 82

PTH secretion causes the release of calcium from the bones by stimulating osteoclasts.

A
fidiwa | sifediane o1 IR TR siEdl § HIRH &1 god el 21
PTH initiates the production of the steroid hormone calcitriol.
B
ey WRIgs gHiA Sefifeaia o1 Sare = Bl 2l
PTH also inhibits osteoblasts, the cells involved in bone deposition, thereby sparing blood calcium.
C
Hidtea fEat & wwma & i Skl sifRedise &1 f Awar 3, e Y5 #§ Sfevrm 3 w8 o 31
PTH decreases reabsorption of calcium (and magnesium) in the kidney tubules from the urine filtrate.
D

g g7 frede @ 1 Y Aftrereit # Sievram (3R Aufifkram) & qHefaxigor & o3 &= a1 21
Correct Ans : D
Subject : GN-A

Q.No: 32 Which of the following e is the part of the sentence that tells or asks something about the subject?
3011134

Fofifad & F HF 1 I/ &1 98 U g o v & aR & $© 94K 8 1 ggdr 87

Tense
A

Ears

Predicate
B

fada

Adjective
C

oy

Synonym
D

LRIDEIC

Correct Ans : B

Subject : GN-A

Q.No: 33 How many nouns does the following sentence contain?
3011135
‘Divers fish for pearls in the Gulf of Mexico.’

e aeal & fa Tad 82
TARER AfRyee! Bt @St § At ged g1’
1



4
Correct Ans : C

Subject : GN-A

Q.No: 34 Which of the following accurately describes the primary role of tissue macrophages in the immune system?
3011144

Frofafed # & SIF ufeen womeh & Sae Al B Wi YT &1 acie o FRar 82

Tissue macrophages destroy pathogens and remain in the bloodstream.

A
TP At TSB! T TT FXA § 3R Yvars 7 69 T
Tissue macrophages derive from lymphocytes and process viral RNA for B cells.
B
Fa® A R IETEeH § W g & 3R ff Hikiereit & T amRa 3RYAT & wifie ava &1
Tissue macrophages phagocytose pathogens and present antigens to T cells.
C
FaF A BRHTEEN oS 3R & Fifkerst & R e wgd #3981
Tissue macrophages are formed from neutrophils and promote humoral immunity.
D

AP Aol GIhd | T9d & 3R gTARS UfaRe &1 gerar 3d §1
Correct Ans : C
Subject : GN-B

Q.No: 35 Which of the following best describes the interaction between hydrostatic pressure and oncotic pressure at the arterial end of a capillary?
3011147

Frafafad & 3 B 91 SRS & 4 BR R eRSRRfeH ga1a 3R f-hifed gama & €T a1 &1 Ja9 w37 Jui Pl 82

Hydrostatic pressure pulls fluids and solutes into the capillary

A
FESIRRET gara et vty iR fcha #t ST # Wiaar &
Oncotic pressure pushes fluids out into the interstitial compartment
B
HipIfew gara ava verd HI dexfeRmd e ¥ udbawm §
Hydrostatic pressure pushes fluids and solutes out into the interstitial compartment
C
TIESRRfe® qara ava yardf &t ydbear & 3R e &) sexfRma fas & arex e @
Oncotic pressure increases hydrostatic pressure to maintain fluid balance
D

SfPifee qara aXa Aqa I1E W@ & RIT greseiR® qara & gerar &

Correct Ans : C

Subject : GN-B

Q.No: 36 Which of the following best describes the principle behind the Radioallergosorbent Test (RAST) used in skin testing?
3011150

Frofifad & I HF @ar ufienr § ITT fHT M ard Sasidise S (RUTHCT) & Ui & Rigid 7 Ja9 3T 90 T 87

Detecting allergen-specific antibodies by introducing allergens into the skin.

1 § TaS A B Tasii-fARiy weie) &1 gar

Measuring allergen-specific IgE through immune complex absorption on a solid surface.

31 e W ufaRe sifed ra=iivur & Ared | vae-fafkg ardelis #) argm

Observing physical reactions on the skin after allergen pricking or injection.



TSI U 9T §9aRM & 918 @dl R RIS wfafparsit &1 saaie s

Identifying allergic reactions through skin redness and swelling post-injection.

SR & T1¢ @91 P! AT 3R o & ureaH | vasl ufaferarei Bt uga H1l
Correct Ans : B

Subject : GN-B

Q.No: 37 Which of the following methods is commonly used to prevent febrile reactions during blood transfusions?
3011151

I MY $ IR SR Faieht ufafparsit &1 A & Rw omrdk W Fafafad & § fog R_fy o1 Sugn fear s 82

Antihistamine injection prior to transfusion

A
UM ¥ UEd CeifeRemIET $oeRH
Leukocyte depletion of RBCs and platelets
B
IR 3R Wedew 1 W@ Tge HH
Use of corticosteroids to reduce sensitivity
C
HagTiterar 3 $H F & Y Fiicariged 1 IuamT
Administration of epinephrine during transfusion
D

MY P IR TRAHT ST w=ma=T

Correct Ans : B
Subject : GN-B

Q.No: 38 Which of the following is TRUE about bronchioles in the human respiratory system?
3011152

e 497 7 § SiFpeied & IR § Fufifed & 9 o9 @1 oy= 9 82

Bronchioles contain cartilaginous loops for structural support.

A
A paien ¥ Weers wwd= F R siféame qu el §
Bronchioles terminate in alveolar sacs where gas exchange occurs.
B
ifpeiied gferdier Al & wATE €19 € et 19 T S1QT-9eT g ¥
Bronchioles have ciliated cells but no mucus-secreting glands.
C
sifpeier 7 Riferdes SR g1 § A SIS Femm wfad H areht e 78 e 8
Bronchioles are lined with multiple layers of squamous epithelium.
D

sifraicd Waw TR it 75 wal § dfdas ea #
Correct Ans : B

Subject : GN-B

Q.No: 39  Which diagnostic method is considered the most conclusive for assessing gastrointestinal issues?
3011160

o3 Taeh el &7 Sfber B & o HH A e ugha ged Fufaes arh st 22

Stool examination for blood and abnormal fat

I 3R SFETHIT 9T & T e ateror

Proctosigmoidoscopic examination



MeRIRTHTsIfe Tdam

Barium study on X-ray

C
TRI-Y W R e
Endoscopy

D
LS

Correct Ans : C

Subject : GN-B

Q.No: 40 Which of the following best describes a disease characterized by recurrent ulcerations and inflammation of the colon and rectum, beginning in
3011161 the rectum and spreading proximally?

Fofifad & F HH 1 7 geara 3R TR H IR-SR §F I @R 3R GoH 31 fIRwaT arar Ta g1 quf FRal 7, S AR ¥ R gIp? HTR g F
o 82

Crohn's disease

A
wig I
Irritable bowel syndrome
B
Ulcerative colitis
C
JRfed prasied
Diverticulitis
D

Sradtpatea

Correct Ans : C
Subject : GN-B

Q.No: 41 Which of the following statements most accurately describes a common cause of hormone imbalance in the endocrine system?
3011162

Fofefad & ¥ HF I HF iq-ard & B gH SRiga- & WM HRU BT Yoy b qui Rl 32

A genetic disorder leads to excessive hormone production only.

A
TP TR PR Faa rafie gHi Sared 3t 3R & s 21
Endocrine tumours always result in hormone deficiency and are cancerous.
B
Sfa-aTdl 3rdg A TTHI B HH HT HRUI T § R Fawery g T
Disruption of the feedback system can lead to improper regulation of hormone levels.
C
ufafsrar yuneht & ey A & R & g Rfgwa &1 SR a7 9@t 21
All endocrine disorders are primarily caused by external infections.
D

Toft Sfe-ETdt PR g&1 ¥ & a1gdt WHHU F FROTFA T
Correct Ans : C

Subject : GN-B

Q.No: 42 Which of the following statements correctly describes the causes and symptoms of genitourinary problems in the elderly men?
3011170

Fraffad & @ B 91 ST got g § S Geth FEereh & SR 3R el 1 Get qui BRar 82

A Strong bladder muscles in men cause frequent urination issues.



qoul § AR F Aoy AURAT IR-IR U9 3 TSt $1 FRT a9 #

Prostate enlargement in men leads to difficulties in urination.

B
Toul § fRe agd @ A oo A 21
Women often face urination problems due to muscle strength.
C
afFersi # AR AR 3T dHd F SR VT B THRS BT AHAT BIAT IFAT
Elderly men usually have stronger prostate glands with age.
D

T TPU # AR W Y F WY WRee FRi weiga d {1
Correct Ans : B
Subject : GN-B

Q.No: 43 What aspect of a patient's history is important when considering their premorbid personality?
3011173

et It & od-v0r fdaa R R FRa 99T SU% 3fagr &1 1 91 Ugq Teaqyf 82

Attitude towards leisure time and preferred activities.

A

el ww SR wRidter TRt & wfy et

Interaction style with family, friends, and colleagues.
B

IR, Gt AR Fehifal ¥ wry aradia A

Consistency in mood and general outlook on life.
C

TeeRT R Sfia W " E e # R

Relationships with parents, siblings, or close relatives.
D

ATaT-re, WTE-ae a1 Fd R ¥ Ay ey
Correct Ans : B

Subject : GN-B

Q.No: 44 Which aspect should be carefully inquired about when discussing a patient's previous treatments?
3011176

et 19 & Ao ITER! R 74l FRd 999 f5g 1gq & IR § WayHYds ggdars 3t o aifeu?

History of allergies and dietary habits.

A

TSl oY SMER Waeh siea) ®T gRENI

Details of prior psychiatric conditions.
B

d weifafeita fRufaat @1 faawon

Recent travel history and sleep patterns.
C

BT € & 3 Wit A ok g 1 e

Family history of occupational diseases.
D

TGRS A7 BT UiaTie gfagri|
Correct Ans : B

Subject : GN-B

Q.No: 45 Which cognitive function assesses the ability to stay focused and sustain mental effort?
3011177



DI I GIHIAS ST O Higd G 3R AFRIS T P §IT [ BT &A1 BT DT HRal 32

Orientation in time, place, and person

A
by, RIF 3R aafe & sifufa=ma
Level of consciousness and alertness
B
AT IR Gadar PT wR
Attention and concentration ability
C
T 3R TPHTIT &
Short-term and long-term memory recall
D

eI R ddeie iy wRO
Correct Ans : C

Subject : GN-B

Q.No: 46 Which of the following is a key use of the Mini Mental Status Examination (MMSE)?
3011178

e § 3 o @ fiFh o fRufy e (THeres) @1 v Sudi 82

To evaluate orientation, attention, and short-term memory.

A
AU, e 3R SreuaTfere W &1 qeuie 1 & Rl
To measure emotional stability and social functioning levels.
B
YTGTHS FRIRAT SR ATHIRIG SHS & TR $Y 76 & Rgl
To assess physical mobility, strength, and endurance skills.
C
i Tfesfterr, wfd ok HeTife S ST snHas HeTl
To diagnose speech disorders and language development issues.
D

qmoft faerRY 3k HTT faera Tt wawmsit o1 fem s
Correct Ans : A
Subject : GN-B

Q.No: 47 What effect does the abrupt withdrawal from long-term barbiturate use have on dreaming?
3011186

fepifeie aTfdeRe IUENT ¥ 3EME ITUw BT YU 3@ W 1 YHIT 9SdT 32

Dreaming becomes less frequent and vivid after withdrawal.

A
U A F I1E W HH IR 3R Sitdd g o 7
Dreaming remains unchanged and normal during withdrawal.
B
Ul & R AU srufvafdd Sfiv W e 31
Dreaming becomes vivid and excessive during withdrawal.
C
ATt F R WO S WY SR st g §e §
Dreaming stops entirely after stopping barbiturate use.
D

SIffe¥e BT STENT §¢ F1 & d1g WU $&T T a¥g A &g ¢ e 21

Correct Ans : C

Subject : GN-B



Q.No: 48 Which of the following best describes the therapeutic relationship in psychotherapy?
3011187

Fofifad & @ o4 @ e § Rifeci Yoy o Ied 3T quf sear 82

A relationship that ignores patient behaviour for quick solutions.

A
TS FA1 ey ol @Ra GH F e 90 & saagR FY ISuem Far gl
A process focusing solely on the therapist's expertise in problem-solving.
B
TaT-waryT B Rifeas 31 fadvgar ® ¢ft e 3 o fea w7 arclt v uftsan
An interaction aimed at exploring and changing the patient's behavior positively.
C
M & TIER B FHRTAS ¥ F TARM R Tea F ILT A TS gl
A contract for temporary relief without further personal development.
D

3T AfRTTa e & famr st wr5a & e T srgay|
Correct Ans : C
Subject : GN-B

Q.No: 49 What is one of the primary aims of psychosocial therapies?
3011188

TR IUER] 1 U Wiufies ST & 87

To decrease the person's vulnerability to various stresses.

A
wafd ot faftra et & wfa Sagited 3t w9 11
To increase the impact of stressful events in their life.
B
I% oitgq ¥ Iaqul gerait & guTa &Y qgHT
To enhance the levels of distress and disability faced.
C
AT 5T o aTd Heve SR faweiTar & W) $Y g
To exaggerate the symptoms of psychological conditions.
D

TS fRAfoaf & deroi & agr-gere? FamT|
Correct Ans : A

Subject : GN-B

Q.No: 50 Which of the following statements accurately describes a key characteristic of major depression?
3011196

Frofafed & 3 S 1 H3F T Saue 31 9o ARvd BT 9 quiH a1 37

It is frequently linked to feelings of intense joy and vitality.

A
g ofeae fia G ok shea wfdy Y Hramel A g1 St 81
It involves pervasive sadness and negative self-perceptions.
B
T AUF IR SR ASRIAD SHTeH-URUTE A § 1
It is primarily marked by excessive energy and optimism.
C
g GBI U A il Sl SR 3r=rrarg gRT g 21
It rarely leads to suicidal thoughts or behaviors.
D

g Tmaq § H srerare faaRY a1 sraeR) @Y ek & ST g1

Correct Ans : B



Subject : GN-B

Q.No: 51  Which of the following rights is specifically aimed at protecting the dignity and autonomy of mentally ill clients?
3011199

Fafifad ¥ F 5 sfieR &1 322y Ay ¥ § THRie 0 ¥ FAR A7 B TRAT iR TR B 8T HIAT 8?2

Right to receive legal representation and support

A

P wfafAfira iR Tud= wa Fv a7 SHReR

Right to obtain information about their treatment options
B

I SUER fawetdl & IR & THSN Ud T FT AUPR

Right to enjoy community living and social inclusion
C

AP Sfia 3R AT THIAR BT 31+ A BT PR

Right to access comprehensive mental health care services
D

TP ARG WY TGUTH Q13 9% Ugd BT PR
Correct Ans : B
Subject : GN-B

Q.No: 52 Which group of disorders is characterized by an impairment or delay in functions related to biological maturation of the central nervous system?
3011202

Rl & e wmg & foRivar et e o 1 Sfde uiaed & eftd s & a1 a1 &t 82

Neurotic, Stress Related and Somatoform Disorders

A
RIfeH, a9ma wadht o HHEwH PR
Disorders of Psychological Development (Child Psychiatry)
B
TS e F {eR (a1 7=R)
Organic (Symptomatic) Disorders
C
S (Feomes) iR
Disorder of Adult Personality and Behaviour
D

qYEh Afkied 3R TaER T PR
Correct Ans : B

Subject : GN-B

Q.No: 53 Which category of mental disorders emphasizes psychological causations and includes conditions labeled as neurotic or psychoneurotic?
3011203

AARE AeRT 31 B € Joft TawiE SRl IR SR 3 ¥ R S RRE a1 RERRIRE & w9 F dea $ T8 Rufvar e §2

Mood (Affective) Disorders

A

LeicuReicRECIN

Organic (Symptomatic) Disorders
B

e (aevmee) ffer

Neurotic, Stress Related and Somatoform Disorders
C

R, a1 Tl SR WG AR

D Schizophrenia, Schizotypal and Delusional Disorders



fepeiibfaT, Resifeua ok uw T iR
Correct Ans : C
Subject : GN-B

Q.No: 54  Which statement best summarizes the societal attitudes toward mentally ill patients during the periods of persecution and segregation?
3011204

B T By IS 3R T B 3faf & IRE THRID T I AR AT F 7l Tiis =R & T o § IRIRIT H=ar 82

Individuals with mental ilinesses were viewed with compassion and given appropriate care.

A
AR Sl ara sfRmat o oar 3t e & Jar o ot o SR s dmura & wd ot
Society believed in superstitions, leading to the mistreatment and isolation of the mentally ill.
B
T SrufayrRi # fayry Bar o1, RIS SR AMRYS U & SR G % 619 gofaeR R @ gt ATl
Mental illness was recognized as a medical condition requiring specialized nursing and treatment.
C
THRE S Y T R R ¥ w0 & argar § 7€ f ek R ik Ak i suaR #t srazawar gt 4
Patients were integrated into the community to receive support and understanding from society.
D

A A AT R U W FRA F g A #Y ager & @tea fear wn an
Correct Ans : B

Subject : GN-B

Q.No: 55 In assessing a patient's mental state, which of the following observations relates most directly to emotional responsiveness?
3011212

ot e &t THlie U &1 e &=a #, FEfifad § ¥ &1 1 sradie A8 uiaTiers ufafhar & J&fta 32

The patient exhibits minimal effort in speaking and shows lip movements.

A
Mt die A grraw s welkfa #var § ok gis Ram 21
The patient demonstrates rigidity and waxy flexibility during the examination.
B
Tteror F R AW FERaT R WA ST AT veRkia wyar B
The patient writes effectively while being uncooperative in verbal communication.
c
M AfEe TR F srgantt g gu ot yuTdt 1 @ fRrgar 81
The patient reacts emotionally when discussing sensitive family matters.
D

Tae-Rite TRaT® Al R =9t @vd 99y I yieTEe v J wfafear s g1
Correct Ans : D

Subject : GN-B

Q.No: 56 Which of the following best describes the primary focus of mental health nursing psychosocial interventions?
3011213

Fafifad &  $F 1 ArRie W AR TANmERe s5aT & mullie Bled & ey 33T qui ST 8?2

To treat mental ilinesses solely through medication management.

AR Sl &1 sare Sad a1 YeyT F q1ed ¥ HIA11

To emphasize the importance of physical health and exercise.

RIS Wy iR aEM $ 98d W SR ¢l

C To combine psychological and social aspects for holistic recovery.



Ty g & forg wamie ok wrfore uegsit #t Wit w11

To rely exclusively on cognitive-behavioural techniques for therapy.

fafeer ¥ forg Aty © 7 } IFFATHS-AAER dH-1D! TR HRIAT HATI
Correct Ans : C
Subject : GN-B

Q.No: 57 What principle underlies the concept of co-production in mental health nursing psychosocial interventions?
3011214

TR T ARAT ARG 8T H T8-SdTe B TURUN BT YR B 1 Rigid 32

Individual treatment plans designed solely by healthcare professionals.

A
HIHATT STIR FIoFTE T TR A WA U ISR gRT fEemg 31 78 §1
The collective experience of patients, caregivers, and healthcare teams.
B
A, T@UTA FI arel R TR ST A BT ARE ergyd|
Strict adherence to traditional psychological therapy frameworks.
C
URRE TSNS R R 31 FeE § ura|
Emphasis on individualized pharmacological treatments only.
D

Fad Jufapa vty SR W wR|
Correct Ans : B
Subject : GN-B

Q.No: 58 Which of the following is the most characteristic symptom of a patient experiencing an anxiety panic episode?
3011222

Fofifad & 3 @ 1w A F i, gavree 3t R &1 sy w37 arar g ks a@eor 82

Elevated blood pressure and slow respiration rate

A
I oAy SR dift e R
Flushed face with profuse sweating and rapid pulse
B
i TR 3R AW A F WY g A1 BT
Increased appetite and weight gain over time
C
UG & Y Y@ T 3R qo geT
Persistent insomnia and a general sense of well-being
D

AR SAET SR B0l Bt ARG HTa=T
Correct Ans : B
Subject : GN-B

Q.No: 59 Which of the following qualities is essential for a pediatric nurse when interacting with children during care procedures?
3011228

T wfanelt % IR Sl & WY S B 9 U 19 i 76 & forg FufafEa § 9 S @ o smavae 32

The nurse must employ complex medical jargon to explain procedures thoroughly.

i B uftparsi F ot TE V TUIH & Ry wifed Rifven Asgema ST IUART BT TR

B The nurse should be rigid in her approach, avoiding emotional engagement with the child.



7 B I TR0 F FSR T IRY, T & WY UGS TS & I941 ALY

The nurse needs to maintain a gentle demeanour and be attuned to the child's emotional state.

T T BIA IR TAT T SR T P UIGTAS (RN F e g1 T smazaswar gt g1

The nurse must delegate all communication to the parents to minimize confusion.

T B YA B FH B & ¢ Arar-Rar F1 it TR W ikl
Correct Ans : C
Subject : GN-B

Q.No: 60 Which of the following objectives is NOT a part of the I.C.D.S. programme aimed at child development?
3011229

i & 3 9 91 3T 919 o™ $ e ¥ o.M TH.(1.C.D.S). FRiHH F e et 87

Reduce the rate of malnutrition and improve health conditions.

A
FUYY B R P FH BT 3R Wy Bt fRARY & uR FA11
Enhance mother’s ability to meet child’s nutritional needs effectively.
B
T B W07 Y FReval B YT S Y R P F e A Y & S ggrn
Establish a standardized health policy across all departments.
C
Tt fumit & v aeted W Hifa wifda s
Promote the psychological and social growth of children under six.
D

BE U9 A $H 39 F g & AAAEIS AR e e S ggrar &l
Correct Ans : C
Subject : GN-B

Q.No: 61 What does the term "Social Preventive Pediatric" refer to in the context of children's health?
3011238

el % W % Jeu § amiie Mare a1a Rifear s &1 @ o 37

Applying social medicine principles to understand children’'s health problems.

A
T F @Ry gawns w gugE & e armfsre Rifeen Rigiat w1 ang s
A focus solely on treating diseases in children without prevention.

B
fo Aput & Faa g= # Sl F gare W e ST s
Emphasizing nutrition and physical activity for children's growth.

C
ot & faem & g divor ok wmdifve afafafr w sk 3m
Providing medical care only in emergency situations for children.

D

=it F oY paa smuTawTen fRufoat & fRifrer Sauma werm w1
Correct Ans : A
Subject : GN-B

Q.No: 62 What is one of the key objectives of child development programs for preschool children aged 0 to 6 years?
3011239

09 6 ¢ BT g F TRGd Tl & T A1 BT HRIHH BT T YW I F1 37

A To improve the nutritional status and health of preschool children.



Wi g=t @t divor fRUfY SR e & GUR F=A11

To reduce the number of school dropouts and health issues among children.

B

ol ¥ T e aral P W1 3R WA Aath grwnsit Y 7 Sl

To enhance mothers' ability to care for their children's nutrition and health.
C

Tt F T T F G0 3R WA B TTUTA $IA BT &A1 BT G

To ensure effective coordination between departments for child development.
D

a9 faem & fog fawri & & yurdt awag gifda s
Correct Ans : A
Subject : GN-B

Q.No: 63 What congenital anomalies is known as?
3011255

SRS ferTfert Y o T ST 82

Prenatal injuries or birth conditions.

A
Sqd e ar o Heelt fRufomr
Birth defects or congenital disorders.
B
ST Y A1 SO PRI
Genetic issues or prenatal disorders.
C
ST RIE THE a1 SHqd BRI
Developmental issues or birth syndromes.
D

e gt a1 s Righ
Correct Ans : B

Subject : GN-B

Q.No: 64 Which type of spina bifida is characterized by a sac of fluid bulging through?
3011256

59 ysR & Wi faftreT § R uerd @t Aok 3w 5F Bt 32

Spina bifida occulta has no visible sac

A
wTE faftpeT eiipeer ¥ w1E Txaue delh T E 3
Meningocele has a sac of fluid bulging

B
AR & 53 P 0P Teft Sud gs o €
Myelomeningocele has spinal fluid leakage

C
TraRfEa & S 9 53 ¥ ava vard o1 e gt @
Spina bifida occulta involves hidden defects

D

g faftrer sifgpeer # 59 gu v wfia &
Correct Ans : B

Subject : GN-B

Q.No: 65 Which condition is associated with inflammation of the tongue often due to nutritional deficiency?
3011266



FHIA- R Sty Bt gor I Tafid 8, S SRR WU Y S B HRT Bl 32

Stomatitis
A
wwrergfed
Glossitis
B
wrarsfed
Parotitis
C
Riergfew
Herpes
D
gifg

Correct Ans : B

Subject : GN-B

Q.No: 66 Which of the following disorders is characterized by difficulty swallowing due to impaired esophageal motility?
3011267

Fofifad & ¥ $F a1 fTHR e @t 1 F B F HRO Fras J siears | aftfa fear mr g2

Achalasia causes swallowing issues and weight loss.

A
SraamiT e  §HwTt SR a5 TH $IA BT HRU GG 1
Dysphagia results from weakened throat muscles.

B
R Torm T # AR ¥ U & uRumRaEy g 31
Diverticulum occurs due to inflamed esophagus.

C
SHEEHaH AT e & SR gl 211
Gastroesophageal reflux leads to chest discomfort.

D

g Rme Rude o & SrRgfaer $1 $RT 9941 81

Correct Ans : A
Subject : GN-B

Q.No: 67 Visual acuity and peripheral vision tests are recommended to be performed for patients to determine the functioning of which cranial nerve?
3011276

fu Fura e ot srivure Fufta $ & fog AT & foe ez deorar ok ufkdia = odtew frt oM &) e 3t orh &2

Olfactory
A
sror weet
Optic
B
e
Oculomotor
C
Sifgaiaier
Facial
D
g waeh

Correct Ans : B

Subject : GN-C



Q.No: 68 A small depression called lies between the fourchette and hymen in the vagina.
3011279

A F BRI IR 7 & fi AN T BT A TG B B
Fossa ovalis
A
Wi Safere
Fossa magnum
B
W A
Fossa naviculoris
C
BT AR
Fossa brevis
D

v sfas
Correct Ans : C
Subject : GN-C

Q.No: 69 The pulmonary neuroendocrine cells of the foetus secrete which of the following two peptides?
3011282

YU 3 GUpHE TSR SR Fafied ¥ § S 3 @ doey 71 9 oxd @

Albumin releasing peptide

A
Tegfte Refifei dergs
Globulin releasing peptide
B
wregfer Refifsi derss
Gastrin releasing peptide
C
AR Refifoim deres
Lecithin releasing peptide
D

AR Rt dergs
Correct Ans : C

Subject : GN-C

Q.No: 70 Select the structure which develops in the foetus develops retroperitoneally?
3011283

01 B R 819 arell YR &1 =9ae B3 S IeRaARad wU ¥ e gt 82

Urethra

Bein

Gonads

M

Lungs

Liver

gPpd

Correct Ans : B



Subject : GN-C

Q.No: 71 What is the ratio of ASHA worker at village level?
3011293

T TR W ST BRI BT ST T 83?

1:100
A

1:100

1:500
B

1:500

1:1000
C

1:1000

1:2000
D

1:2000

Correct Ans : C

Subject : GN-C

Q.No: 72 When was the ministry of AYUSH formed?
3011294

SN FATET BT 6 $9 g2

9 November 2014

A
9 qds~ 2014
5 September 2010
B
5 RdaR 2010
10 April 2005
C
10 3@ 2005
7 August 2000
D

7 3T 2000
Correct Ans : A

Subject : GN-C

Q.No: 73 From which department was the ministry of AYUSH formed?
3011295

SN HATE T faumT & aema wrar ur?

NHRSC

A
TR
ISM&H

B
JTETHTH TS T
EPC

C
St

D MSG



TSt

Correct Ans : B
Subject : GN-C

Q.No: 74 How does teaching help students in their personal and professional lives?
3011303

TR1er07 ST Y ITb AGHTT 3R IJR Sia T I Heg HRaT 82

By helping them memorize historical dates

A
e Rl 3 o F § 7eg FF
By encouraging them to adjust to new environments
B
I U TR § YERiTG g ¥ R ienfd avs
By focusing only on textbook knowledge
C
a9 MSITF T W A Hzd 7
By avoiding real-world applications of knowledge
D

M & IRAMRS ST SN & FTH
Correct Ans : B

Subject : GN-C

Q.No: 75 What is the principle of motivation in good teaching?

3011305
e Riefor 7 SR 7 Rigia 1 82
Creating student interest for better comprehension.
A
Yea? uF & fore fyenffal & 3R dar v
Setting clear goals for educational planning.
B
A der & e we wea FHuffa sem
Adapting teaching strategies to student abilities.
C
Rrgror Toritfoat &Y o1 Ft ermarst ¥ SEET ST
Considering different student learning needs.
D

faftr Rt 9 We # smaxgsarsit w R
Correct Ans : A

Subject : GN-C

Q.No: 76 What do Gates, Jersild, and McConnell emphasize in their definition of learning?
3011308

fieg, SRfes SR Amia diga @1 g aRyT & g W SR 3d 82

Learning is about static change in behaviour over time.

TrEAT W & 1Y e # fRR uiadT $ aR A 21

It is a process of reacting passively to situations.

Tg fRufeat R fifesa wu & wfaftear o1 9 & ufear 21

C Learning involves progressive change through active efforts.



Hre & aftpg vl & wread | wifesfia afvad= e 81

It requires the addition of new experiences without modifications.

o e fopeft W= & AU gyt Bt St #1 smazawar g1

Correct Ans : C
Subject : GN-C

Q.No: 77
3011311

What is the main focus of ideational learning?

Fenies e o1 g=T WiHd o 82

Acquiring emotional responses in different situations.

faftr fRufoat & uramTere wfafdrart wra s

Developing fine motor skills through practice.

3T & WA | qieT Hiex I [Apia s

Obtaining knowledge and clarifying concepts.

T WIS BT 3R S@UROMSH B WY FIATI

Performing physical actions with precision and accuracy.

RS frarelt w1 Tdwar iR aRR[war & a1y B

Correct Ans : C

Subject : GN-C

Q.No: 78
3011312

Which of the following is a characteristic of skill learning?

Fofifed & o1 s e 3t fadva 32

It primarily involves emotional understanding and feelings.

TN I U ¥ WIS 99 3R UGS i g

It focuses on developing knowledge of theoretical concepts.

g Agifde U & 7 &) el o ® $a 2

It requires attentive observation and practice of tasks.

THH Bl $ AEUFIGdS aaie 3R T P} TaRawdr gl 8l

It is limited to memorizing information without application.

g 31 v & SHER $I g1g WA a@ Wfd 21

Correct Ans : C

Subject : GN-C

Q.No: 79
3011313

What is one of the key reasons for conducting nursing research?

ARAT SFFH PR BT TH THE HRUT T 82

Establish the social relevance of nursing practices

AR warsf @t Armfore e wifia &3

Validate nursing as a respected profession



aRfT %) ve gra IR F 0 H 9 Y

Build a body of knowledge unique to nursing

aRfT & R oy I o1 HeR T

Improve the quality of nursing care services
aRfr TguTe Farsit F o § gUR

Correct Ans : C
Subject : GN-C

Q.No: 80 What is the initial step in qualitative data analysis?

3011321

U St fazeor & uRfYe @R @ 82

Collect data from structured interviews.
A

TR HETPRI & ST ThA R

Analyze written texts from open-ended questions.
B

SUA-T3T vl & e ure &1 farerwor #31

Obtain qualitative data through observations.
C

SaeE-l & ATHH | NS ST U HATI

Use statistical methods to interpret results.
D

il 9 e F¥ F e At el $1 Sw FE
Correct Ans : B

Subject : GN-C

Q.No: 81 What are the two ways to report qualitative data in research findings?
3011322

ity el & Tunere 3ot R &7 & &1 e o §?

Summarizing major results separately; integrating different data sets.

A
g ufumet Ft SrernT ¥ AR Fen; Al Ser e @ wHigd B
Presenting all findings in one section; summarizing conclusions.
B
Tft Frep sl #) T AT A wgd FeT; Frew T a1 wRiR
Collecting data in one area; analyzing results thoroughly.
C
TP & H ST TS ST, IR T TeaT & fawayor S
Integrating findings with objectives; presenting qualitative measures.
D

freput @) IERAT & WY TPIPHd HET; OIS IUMT YT ST
Correct Ans : A

Subject : GN-C

Q.No: 82 When was the first two-year past certificate Bachelor Degree program in Nursing established in India?
3011332

yRd # IR 7 ygen < affa ure GiEfhee STer S v Sa wiftd fear m are

A In 1946 at Delhi and Vellore colleges of nursing



1946 ¥ faweht iR AR P 3ife TRfT &

In 1963 at the Trivandrum school of nursing

B

1963 ¥ Fa=w wpa ifw aRfn &

In 1871 as a general nursing program extension
C

1871 A TF W ARfT Srfww R & wu

In 1948 with changes to midwifery programs
D

1948 ¥ 3¢ P B HAHHI § Tead & Y
Correct Ans : A
Subject : GN-C

Q.No: 83 Which of the following aims in nursing education emphasizes the need for specialized authority in student selection?
3011335

R Rren & Fafafed & ¥ HF 1 I BH T99 & R TRIGR &) awaddl W SR 3T 82

Nursing schools must have their own budgets and facilities.

A
ARfT @l & TR 39T S 3R glwme gt Ry
Recommendations from the INC should be enforced.
B
T B R & ary fFar s aifge)
Selection of students should be based on aptitude tests.
C
B BT 94T IRGaT THEOT & YR W g1 A1feq|
Nursing personnel must have authority in the selection of students.
D

aRfT Bifal w ol ¥ 99 § SRR g TRl
Correct Ans : D

Subject : GN-C

Q.No: 84 Which of the following statements accurately distinguishes between direct and indirect euthanasia?
3011338

Fofifad & @ 39 91 HUF g 3R Svdy SHHG & S TEIH iR BT 82

Direct euthanasia involves actively terminating life through methods like injections.

A
Y TONg H SOaRM S aile! & AT | Wik U | i JATE BT M 21
Indirect euthanasia refers to neglecting a patient to allow a natural death.
B
3T SOTY BT arqd et If Bt urpfae G Y agafa 37 & Ry s Stan s 21
Direct euthanasia is solely about passive withdrawal of life support measures.
C
s Y T A | st wwd= Surdl 3 fAftey aeh Far A 31
Indirect euthanasia entails medical professionals administering lethal doses.
D

3y g ¥ Rifrer IR &) urae g 31 wiiE g1
Correct Ans : A

Subject : GN-C

Q.No: 85 What year was the Trained Nurses Association of India (TNAI) officially established after merging two organizations?
3011339



3 WA & faaa & are yRdR ufkifEd T e (Seeers) $t snfieie IR W wie fbg af Bt 78 @

1905
A

1905

1909
B

1909

1922
C

1922

1908
D

1908

Correct Ans : C

Subject : GN-C

Q.No: 86 Which of the following statements accurately describes the membership process in the TNAI?
3011340

Frofiad & 3 B9 91 HYF AT H TewdT UihaT B 9eid qui HRam 82

Membership requires a state registration certificate and associated fees.

A
Hegdl ¥ Y Iy USiieor yamoe 3R Tefia o $1 snazadar gt g1
Members must submit an annual report on nursing statistics to join.
B
Hawdt #Y MiAa 7 & g ARfT Attt w® e aiffe Ko wega s ghih
Membership transfers from SNA must include a diploma copy and fees.
C
THEAT | T §iervl # U FEwitan ufe 3k e wirer g wrigwl
Life membership options are available only after five years of service.
D

JreitaT Wewdl fawed Saa U™ qrd Bt 9T F 16 Sua B
Correct Ans : A
Subject : GN-C

Q.No: 87 Who is primarily responsible for coordinating nursing activities with medical staff in a hospital?
3011349

e H fafeer sraiar & ar aRin nfafaftet & au-ag & o g1 ¥ 9 3 SF fder 82

Nursing Superintendent oversees staff and hospital duties.

A
ARfT srefiere FHmRal i sRuaTa Fefel Bt I@vE T §
Chief Nursing Officer ensures staff roles align with policies.
B
@1 AR it 95 G Fvar & f il ot yftred Hifedl & sy gt
Ward In charge manages patient care in general and special wards.
C
1€ THRY HET O faiy arst § Ift S@vre @1 yeu FRar 3
Director of Nursing Service coordinates care across departments.
D

aRfr da1 PRz faftm Ry & Savrea $1 w9y s 2|
Correct Ans : B

Subject : GN-C



Q.No: 88 Who is responsible for handling a nurse's performance issues in a line organization structure?
3011350

TP A3 WS G § T & vee & GEl Y GHIeH & R B RreR 82

Chief Nursing Officer coordinates with the medical director for action.

A
@1 ARFT e Rl F1éarg & fig fafen FRre & a1y au-y o g1
Physician oversees disciplinary actions against nursing staff.
B
frfrfRrm aRfT 1w & fRaTs SRS Fiars 3 AR Bar 21
Nursing in-charge addresses issues related to nurse performance.
C
ARET 7T e & veR @ Wl gE 9 Sefi v
Nursing Superintendent directly reports performance to physicians.
D

AR srefrers WY Riferst @t yexi= 1 Raid 3@ &1
Correct Ans : C
Subject : GN-C

Q.No: 89 Which of the following best describes the primary characteristic of hospital supplies?
3011351

Fofefad & ¥ HF srudra smufd @t Trufiie fa=ivar &1 99 oSt qui FRaT 87

Items that are consumed or used up frequently in services.

A

q qEgQ ST IUHNT a1 Jaraff & IR-aR UGN fmar W g1

Durable equipment essential for hospital operations.
B

ST HATe ¥ g smava® fePTe; SuBRUNl

Stationary items required for hospital record-keeping.
C

Sregare RpTe TE & g smawa® R sged|

Machines used in building maintenance and laundry.
D

Yo IERETT R FUS 6 A SUGHT F 5 arelt 7= |
Correct Ans : A

Subject : GN-C

Q.No: 90 What is a fundamental principle of the Advanced Trauma Life Support (ATLS) program?
3011359

TSRS <1 OIS JUIE (TEIUAUY) SimH o1 gayd Rigid o1 82

The ATLS program relies on slow assessment for injury analysis.

A
T PTHH die faxduur & g i geaied w® Rk swar @i
Rapid assessment and resuscitation are central to trauma care.
B
dta geaie 3R geSia maTd I@HTa P Fs A §1
The program emphasizes patient comfort over immediate treatment.
C
PHRIHH TebTd SUIR P ga-T1 & I B 3R 37 W &R a1 81
ATLS is designed solely for surgical interventions in trauma cases.
D

Tuae @ @E ¥ omard & Al A affed swau ¥ e feers far mar 31

Correct Ans : B



Subject : GN-C

Q.No: 91 What indicates chronic respiratory disease during a physical assessment of a patient?
3011365

ot At & TR Yediee & SRM Ao 48 I BT F1 Hbd AT 82

Clubbing of fingers is a significant sign linked to persistent hypoxia and lung cancer.

A
S Y ST ® FArET AR SRR R BEST F FWR F ST TP Hewd Ul Wb B
Warm, red skin is indicative of normal respiratory health and good circulation.
B
T, AT T T 4 TR SR e URETRT 3T HHd 21
Tremors and flapping of the wrists suggest normal respiratory function in patients.
C
HTE F Feb AR BeweTee ARG § AT 46 a1 B gaa 39 €
Pitting edema in dependent areas is only associated with minor ankle injuries.
D

e &= § R ofem Faa T e A A A TR R B
Correct Ans : A
Subject : GN-C

Q.No: 92 Which of the following statements accurately describes the management of arrhythmias?
3011366

Foffad & ¥ HF T HYF (ATl S YeeT $T Tl g FAT 82

Establishing cardiac monitoring is essential for effective arrhythmia management and should occur as soon as possible.

A

TUTdY SraTEdT yaeH F T Fifdae wifefar ®fa By aawae § o I8 Weg & Seg g Al

Symptoms like palpitations and dizziness indicate a severe arrhythmia that requires immediate surgical intervention.
B

YSH IR TFHY AT S AT THIR SfATera T HPbd 3a 3 R g aoprar whfea swaay ot smazaswdr g1t 31

A 12-lead ECG is optional and typically not needed to document arrhythmias during routine evaluations.
C

12-ofts $3iieh dofere B ok Sk W frafird geuic & SR dTedT BT SXTauiexl $31 & Y 3 siraxawar 18l g1t 81

Hypotension and syncope are benign signs that usually do not require any specific medical attention in arrhythmias.
D

grEUeE 3R Yeheh Wivg wair & R SR W srarerar § el Rk R am 33 9 srazged T @ 1
Correct Ans : A

Subject : GN-C

Q.No: 93 Which of the following statements accurately describes characteristics of tachyarrhythmias?
3011367

Frofifad & @ oF @ Sy Thefuftar ) favarsit &1 9w qui Fxar g2

Narrow complex tachycardias often arise from the atria and may result in an irregular heart rhythm.

A

ool wfee SefeISar srawR srefar & Swd g1 § ok 3ud uRumwasy sifafid geg ara g gaar 31

Broad complex tachycardias are generally fast rhythms associated with normal atrial activity.
B

s Pria SRPISAT 7 TR R W= 3ifie Tfafy & It A o gt 21

Atrial flutter exhibits a unique rhythm pattern characterized by a normal ventricular response.
C

3feig We T sifgedta o9 de welRfa ovear & it wm= RRgar ufaftrar &t faswar 81

D Ventricular tachycardia can present as asymptomatic or hemodynamically unstable in patients.



Afepar SHEEa AR A TRiT=gE a1 TSNS ¥ ¥ SRR F T ¥ yoHe 8 Ibdl 2l
Correct Ans : D
Subject : GN-C

Q.No: 94 What complication may arise if the intestine fails to rotate 180 degrees during its return to the abdominal cavity?
3011376

I e 1 a1 & IR &% GRM aid 180 & gHA H s 81 W ot o T Sd g Wapet 77

Formation of Meckel's diverticulum due to duct persistence.

A

e Tedl & FRU AT & s IFan o1 A

Development of volvulus from improper mesentery attachment.
B

3rgfra A ama | aiege™ &1 fAwm|

Gastroschisis resulting from incomplete midline fusion.
C

AR srguf Ao Hags & uRomRasy g 21

Omphalocele caused by intestines remaining outside abdomen.
D

SH AR 3iidl & U & dTER 36 S BRI gl 2l

Correct Ans : B

Subject : GN-C

Q.No: 95 Which of the following fetal measurements indicates a fetal age of around 40 weeks?
3011377

Fofifad & @ B 91 Y1 A9 T 40 TG BT YT SR ST 82

Biparietal diameter of 8.5 cm or greater

A

forursf v 8.5 Wit a1 SHR il

Femoral length measuring less than 34.5 cm
B

T P Garg 34.5 AN A HH At 1

Head circumference of approximately 25 cm
C

R 3 ol e 25 Jf

Biparietal diameter measuring less than 7 cm
D

e =ar 7 AR / w9 AT

Correct Ans : A

Subject : GN-C

Q.No: 96 What amniotic fluid index (AFI) range is considered normal between 28 and 40 weeks of pregnancy?
3011378

THfaRT & 28 T 40 JWTE & S TAFEICS 5a Gaohid (TWHAHTE) BT S T Ja1 Ira A ot 22

10-13 cm indicating typical fluid volume

10-13 It Ry % am &Y exfar @

12-15 cm representing average fluid levels

12-15 It 3fa %a R B wfaffie Hear @

C 20-24 cm suggesting hydramnios condition



20-24 & gl RN ST gg@ AT §

5-6 cm indicating possible oligohydramnios

5-6 A Guifaa sifRrierssmieNe &1 Wdba Sar @
Correct Ans : B
Subject : GN-C

Q.No: 97 Which change is expected in the fourth stage of labour?

3011390

Tg & I TR0 F B 6 uRad sfd ¥2

Increase in blood pressure and fundus displacement
A

I 3R Hew fuE # gfs

Decrease in pulse rate with firm fundus contraction
B

Toigd Bed THad & 0TY Ued & § At

Fundus at the left side with decreased blood pressure
C

YEa # HH & WY TG R hsH

High pulse rate and soft, non-contracted fundus
D

I A€ R R A, R-Apha bed
Correct Ans : B

Subject : GN-C

Q.No: 98 Which symptom indicates the onset of prelabour?

3011391

D T AT TG AT BT T al 87

Consistent vomiting with increased energy levels
A

Foll & TR | 9 & Y AER St @

Frequent cervical changes and false labour episodes
B

TR-GR TR War & uRad= R &t wra digt

Sudden high fever and severe fundal tenderness
C

A A9 ER 3R 1R B B

Sharp abdominal pain with normal blood pressure
D

[T TGdTd & Q1Y O Ue &6
Correct Ans : B

Subject : GN-C

Q.No: 99 What should be done if the outcome of the ethical decision is found unacceptable?
3011401

e e Pk &1 uRomy srdfierd urar sme ot & fhar ST =nfee?

Proceed with initial selected action.

WRAYE Tafd FRaTs & Ty 3 91

B Reassess data from previous steps.



oo Wit & 321 &1 e B0

Communicate decision to involved parties.

i e @ Fofr & IR & gfea a1

Reexamine remaining alternatives' effects.

A et & wurdl t g=: Wa HI
Correct Ans : D
Subject : GN-C

Q.No: 100 According to the AHA's Patient’s Bill of Rights, what must a patient be informed of when refusing medication?
3011402

T & AN & PR a0 & SR, a1 A7 ¥ ITPR HRd G0 I BT 1 Jford fban S A1fgw?

The potential social consequences of their actions.

A
I BTl S HHIRIT Ao TR |
The medical consequences of their decision regarding treatment.
B
SR ¥ Hay & 37 fofa & fafewiia aiom
The opinions of other healthcare providers on their choices.
C
I WA AT TETAIS B ITST UG W I
The financial implications of continuing or refusing care.
D

@Y W T 7 SRAPR A F fasirg fFAfgard

Correct Ans : B

Subject : GN-C
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Q.No: 1  Sucrose, maltose and lactose are examples of which class of carbohydrates?
3010437

oIS, HTeels! 3R AN BIETEEIE P e ol B IeTER &2

Monosaccharide

A

Disaccharides
B

Oligosaccharide
C

Polysaccharide
D

Correct Ans : B

Subject : BS-A

Q.No: 2 Which of the following statements is NOT correct?

3010439
Fofifed & @ & 9 HUF w81 T 82
Galactose is required for the synthesis of lactose of milk
A
Y & AR S A0 & R A smavaw ¥
Heparin is a naturally present anticoagulant in the body
B
2R TR A UTpfie U & Weg U ygeRh &
Excess glucose is converted into glucagon and stored in liver and muscle
C
SfaRe @ IqerE ¥ uRafdd 8 wrar 8 ok g ok aiwdfRn # v € e @
Substances of blood group are made up of amino sugars
D

Tad T & vard enfiHl T & 79 €1d ¥
Correct Ans : C

Subject : BS-A

Q.No: 3 A sample with an unknown composition was brought for testing, the lab technician heated the sample and a foul odour was produced. What is
3010441 e likely composition of the sample?

T ST TR Tl AT UIef0r & fre A e, A9 de=REE A g & m foar ofR ue gty I §F 1 A Y WU Re 3 @ b 97
A Carbohydrate
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FraEESe

Proteins
B
e
Nucleic acids
C
fes s
Fats
D
i

Correct Ans : D
Subject : BS-A

Q.No: 4 Which of the following is NOT a macronutrient?

3010442
Frafafea # & o Twgee T8 82
Carbohydrates
A
PraETESe
Proteins
B
WA
Vitamins
C
[ECUEE]
Water
D
Tt

Correct Ans : C

Subject : BS-A

Q.No: 5 Which of the following is a recommended diet for a patient suffering from tetany?
3010449

Frofefed & @ o w 2eht @ difsa Ih F o sreifea omr 2

Moderate to high sodium diet

A

Ty A 3= QST SMER

High calorie, high protein diet
B

I HaARY, 3= WA ABR

High calcium, high vitamin D diet
C

I ey, 3= faerfim b/ s

Moderate complex carbohydrate
D

Tum wfed FeEleEee

Correct Ans : C

Subject : BS-A

Q.No: 6  In the context of formal letters, how does the choice between passive and active voice impact the tone of communication?
3010450



yaie w= F e &, i ok Tftea snare & d &1 IA19 TIR & T8 &I Y I HRaT 77

The passive voice enhances the formality and authority of the message

A
FfSra smare wewr #t shu=iivear o SRR ) agrd @
The active voice creates a friendlier tone.
B
aftpa 3maTst T AAiqul age ST 21
The passive voice is preferred for conveying complex information clearly.
C
Sfed TSR Y WY ¥ § T He & g AfSpa smarer ot wrafear & s 31
The active voice makes the letter less professional.
D

g ITaret o ) FH AR SR 3
Correct Ans : B

Subject : BS-A

Q.No: 7 A hospital's senior nurse has been instructed to encourage journal reading among her staff. The majority of her co-workers express concern
3010457 zhout their lack of reading time. What would be the best course of action for the nurse to take, based on studies done on this subject?

T SR 31 aRkg T & e 3 man B % 95 om sHaial & o9 ufiet ugn Bl iaiid a1 S i TgHH uga & g9 Bt HHl & AR | Riar
T BRd 1 39 AT WR fPT U el & SMUR R Y & U qed 3rd! prars o gnfie

Make it mandatory for all nurses to read two journal articles a week

A
et 7T & e wwars # S ueT axa vgA sifvard w¥
Setting up journal clubs where co-workers exchange article summaries
B
T FeIE B RITIT FAT TgT HEHHT 4G AR BT MEH-YGH FR &
Attaching journal articles to daily emails
C
e $ha & e da Haw B
Providing rewards to nurses who peruse over three journal papers each month
D

I T B REBR Y ST Sl X 7 A1 A aiftre ufet vl &1 sremg= Hdt §
Correct Ans : B
Subject : BS-A

Q.No: 8 A group of nursing students is concerned about writing apprehension and its impact on their formal writing skills. Based on research studies
3010459 tpat you have read, which of the following factors is most strongly correlated with improved writing abilities in nursing students?

AR BET BT Tk TG G B AT 3R I ARG TR BN TR 39S YHIT &b SR & FRifdd 81 3o gR1 ug 7T My regzi & oeR R, Fafifad & 3
DI 1 HRS TRAT BH & JgR A e F ATy T S Aoge 3 F9T gl 87

Increased clinical practice hours

A
A nar ¥ Uel | gfg
Reading and English aptitude
B
T 3R 3t deaan
Group study and peer feedback
C
g AT SR Hewdl ufafear
Memorization of medical terminology
D

faferear wregrasht &1 R



Correct Ans : B

Subject : BS-A

Q.No: 9  What is a common reason for lack of engagement in reading nursing journals as reported by many nurses?
3010461

AR uBerall B g T Rl @) B! BT U WA HRU T & W1 7 B 74! gRT §adn T 82

Lack of access to journal databases

A
@ 3w aF ugd I HH
Inability to interpret research articles
B
MY AET PT TS FA § A
Limited clinical knowledge
C
Wfha Farte 7=
Overemphasis on textbooks over journals
D

gfTeil 3 ga & wrenywE®! W i SR AT
Correct Ans : B
Subject : BS-A

Q.No: 10 According to many studies, what is the main barrier that nurses have reported for not reading nursing journals?
3010462

T3 T F IER, TR ufeel Bt T ugA F g T gRT AT TS T S R 72

Lack of interest in research

A
ey H Ff Y w
Insufficient knowledge of journal availability
B
T Bt IJueear & aN H e =
Lack of time
C
TG B HH
Difficulty in accessing journals
D

ferell d% uge § S
Correct Ans : C

Subject : BS-A

Q.No: 11 Which of the following types of writing is most dominant and has a daily impact in the nursing field?
3010469

Fofifed § ¥ 59 UeR &1 aG Jad GHETel 8 3R ARfT &8 & 39T e yuIe usar 22

Scholarly journal articles

A

fagamgu s+far o

Research manuscripts
B

My igffat

Patient documentation (graphics, charts, tables, narrative notes)
(o

IR gEaTdSieRoT a1 GRS (Ffhaw, T1E, a9, HUT Alew)

D Editorials



Gibictdp
Correct Ans : C

Subject : BS-A

Q.No: 12 A newly graduated nurse is having trouble communicating with patients during her rounds due to the use of complex medical terms, leading to
3010470 confusion among patients and their families. What approach should she take to improve this?

Th 79 FaF T B Sfed R At & I & SR U7 R F SRA AR & 1Y g b H TR 81 T 3, Frd AT oik 379 aikart & &g ud
UaT 1 e 81 T QURA F g I @ B0 S <

Continue using medical jargon

A
faferean 2rsgoma o1 SwaRT 9t 7
Focus on listening and use simple, clear language
B
T IR A ST Y 3R A, TP UTT BT START HY
Avoid explaining medical procedures
C
fafeear ufsrarsit ot aren o33 & T
Rely on written materials only
D

Faa fafea sl w Ak
Correct Ans : B
Subject : BS-A

Q.No: 13 A doctor notices that a patient's legs are losing sensation. He explains that nerves traveling from the spinal cord to the legs are possibly
3010477 damaged. What term best describes the location of these nerves relative to the central axis of the body?

T SiaeR A 3@ 6 1 Wi & R F $3aT @ 31 @ 71 97 Il § 5 A 1 ot I R @ I aret T ek aifduRd 81 2R 3 St o & wmel 37
T P W BT GEY 3BT JUH B T e BT 82

Medial
A
e g 31
Superficial
B
wagt
Peripheral
C
ik
Proximal
D
TRy

Correct Ans : C

Subject : BS-A

Q.No: 14 During a lab test, it is observed that a patient’s body is unable to break down certain cellular waste, leading to cell damage. Which organelle is
3010481 likely not functioning correctly?

T TENTRITCT TRIE0T & SR, T8 ST T b T A8 1 TRR $F Tger Safist &F die & s/mdf 7, R S & St ¥1 Ivaa: B a1 o 3l &
P TEY IR T 8?2

Ribosome

e

B Endoplasmic Reticulum



TerE Yepe

Lysosome
C

L

Golgi Complex
D

et sirde
Correct Ans : C
Subject : BS-A

Q.No: 15 To transfer ions against their concentration gradient, the sodium-potassium pump in the cell membrane needs ATP to operate. Which movement
3010482 \inq does this describe?

ST Y ITeb! Tiseel GO & 30 MR B b T, P71 Rreet H Wfggn-ueRay vu o) Geiferd &= & g uditt @t srazaedr gt 21 78 f5a
UYHR & 3G Bl qu el 87

Assisted Diffusion

A
Helad TaR
Passive Transport
B
fferg uftass
Osmosis
C
TRTEROT
Active Transport
D

g wRae

Correct Ans : D

Subject : BS-A

Q.No: 16 It is advisable to go for regular assessment of nutritional status in the population. What could be the possible reason for this?
3010489

STRReT B v ) RS &1 At geuie B &) Telg < S 81 3UhT JHTAT RO 91 8 Gebdl 87

To assess physical activity levels

A

IR Tfafafy F wR $T sEAT FIAT

To check for signs of nutritional deficiencies
B

Ty el St & daon St S e

To promote weight gain
Cc

T TG B Teral

To reduce the use for dietary supplements
D

TR STYRP! BT SUART HH HEAT

Correct Ans : B
Subject : BS-A

Q.No: 17  Deficiency of which vitamin causes Pellagra?
3010490

oy faerfer @t ot & damn S 32

A Vitamin D



ferfm St

Niacin
B

e

Thiamine
C

yTafe

Vitamin E
D

ferfim §

Correct Ans : B

Subject : BS-A

Q.No: 18 Complete the sentence by filling the blank:

3010501 is the commonest pattern, and includes disorders such as vomiting and gastric suction, in which acid-rich gastric juices are
lost from the body
Rad WM R a1 T HY:
e o O 3, SR 9 St SR e oM o PR anfie €, R TRrs gaa ifee @ TRR 3 a6k et oI §
Hypervolemic metabolic acidosis
A
BISIRAP Aeraiire RS
Hypervolemic metabolic alkalosis
B
BISIRAIATHP AT e
Hypovolemic metabolic alkalosis
C
BRGNS AeTEIf® srepalter
Hypovolemic metabolic acidosis
D

gRUEtHe AerEifie TR

Correct Ans : C

Subject : BS-A

Q.No: 19  Which of the following drugs is used for the blockade of mineralocorticoid effect in the kidney?
3010502

i & 3 P 9 ga1 ¢ # rRdieiedigs THE $ IS F AT ST B S 32

Ibuprofen
A
EEuic
Chloroquine
B
ESINEIE]
Naproxen
C
BLICEE]
Spironolactone
D

I NEICECE]

Correct Ans : D
Subject : BS-A



Q.No: 20 Which of the following enzymes is a tumor marker?
3010509

Frofafed # 3 BIF 91 ToRE SR AR 37
Trypsin

Rfawm

Amylase
B

LLECE]

Lactate dehydrogenase
C

ARe Rergione

Alkaline phosphatase
D

TehaTg BIebes
Correct Ans : C
Subject : BS-A

Q.No: 21 Which of the following enzyme is a marker of hepatocellular damage?
3010510

Frafifed & @ S @1 ToTsH FUCRIgeR &fd 31 4@ 82

Alanine transaminase

A
qat g
Aspartate transaminase
B
TEee g
Alkaline phosphatase
C
TEHATS WIbeH
Both Alanine transaminase and Aspartate transaminase
D

Correct Ans : D
Subject : BS-A

Q.No: 22 Who gave this definition - *Community is an area of social living marked by some degree of social coherence.’?
3010521

Tg aRuTST f5aa f - Tger A ST &1 T 87 § S 39 ga dob TG SrHeRd gRT Rifgd 21

Horton and Hunt

A
FiET aR g
Robert Morrison MaclIver
B
e aier APER
Eshelman
C

TR

D Ferdinand



widAs
Correct Ans : B
Subject : BS-A

Q.No: 23 A broad term which includes almost all disorders of behavior which are caused by faulty perception, emotion, thinking and attitude can be
3010522 4)jeq as?

TP IS Yeg; o8 aER & aHT Tt IR wnfira € ot Srwguf 4Rom, Hia, T oiR =R & SR g 8, I 1 B8l S Thal 82

Social illness

A
e St
Behavioural illness
B
R Aadt AR
Mental iliness
C
AR St
Passive illness
D

s dardt
Correct Ans : C
Subject : BS-A

Q.No: 24 Complete the following sentence by choosing the correct option.
3010529
The right A-V valve is known as

Fafafaa o 1 98! fAse gaax T &1
<l u.dh, area % =Y & ST e B

Bicuspid valve

A
TEPHAYS dqTed
Tricuspid valve
B
TEFHANS aed
Semilunar valve
C
g area
Aortic valve
D

TETUwH! aTed

Correct Ans : B

Subject : BS-A

Q.No: 25 Complete the following sentence by choosing the correct option.
3010530

The left A-V valve is known as

Frafafed o o1 98t fawe g g1 B
¢ T, ared B F U & I I

Mitral Valve

firger area



Tricuspid valve

B

TIPS ared

Bicuspid valve
C

qEPAYS e

Both Mitral Valve and Bicuspid valve
D

firee area 3R ITgwafls ared A1

Correct Ans : D

Subject : BS-A

Q.No: 26  Which of the following terminologies listed below is not defined correctly?
3010555

T &) T eaTaerdt F ¥ B TE e § uReid TE 3 T 72

Alexia - Inability to read, process or understand the written word.

A
TafRmaT-fafed e 3 ugR, YHIa S a1 gasA | smdan
Agnosia - Inability to differentiate between different textures with the sense of touch.
B
SRraT-wo=t Bt WIa & w1y fafie gl & di9 o wea A A
Anosodiaphoria - State of indifference to one’s iliness or disability.
C
TASATRIRAT-fEdt wt fant a1 fearmar & ufa Sari=a 31 R
Aphasia - Inability to express oneself or inability to understand the spoken words of others.
D

B RYT-ITT I e B3 A TS a7 ORI & I T W) BT qugA F srmmearn
Correct Ans : B
Subject : BS-B

Q.No: 27 Which of the following is the correct method of assessing nasolacrimal duct for obstruction in a patient?
3010557

ot A A TGS At § ShTac BT MHT B BT L AT Fufiied § & H a1 82

Press firmly using the index finger on the nose bridge to assess for any blockage

A
forlt oft TpTaC BT SMTHET HIA F AT A6 & Td W doi-l ST ITUNT HIb Aoge A gang
Gently tap against the upper eyelids to assess for blockage
B
TP PT TG P F g SuH vt W R F 2o
Using the index finger press against the outer corner of the eye to assess for any blockage
C
it +ft FpTaC BT STHE TR F E T BT ITART IS 3@ F TEH T P T
Using index finger press against the lower inner orbital rim to assess the lacrimal sac
D

ARPH BT BT P F AT ol ST BT ITURT b Fradt srialke wefa A w gama s
Correct Ans : D

Subject : BS-B

Q.No: 28 Which of the following is NOT a reason that can contribute to the tensing of abdominal musculature?
3010559

Fofifad & ¥ $F T SR e 3} ARRE! § g Yo7 B F ATeH T8l R Gobdl 87

A The hands of the examiner are cold



THers F UGS §

The client/ patient is ticklish

T /A B IS B E '

The examiner is using light, gentle palpitation during examination

Ted Wig F R g0 R HIId TR $HT IUANT F TET 81

Presence of a pathological condition

I wadt fRufa 9 SufRafa

Correct Ans : C

Subject : BS-B

Q.No: 29 Which of the following is correct option with right matches:

3010560

a) Cranial Nervel

i) Turns eye laterally

b) Cranial NerveII

1i) Turns eye laterally and downward

¢) Cranial Nervelll

ii1) Chewing

d) Cranial Nerve IV

i) Evelid and eveball movement

e) Cranial Nerve V

v) Smell

f) Cranial Nerve VI

vi) Vision

iR & 3 B o 9g e & 9y I8 e 8

a) wure dfaer 1 i) 3@ I d FgAT &

b) T drEE 11 i) 37T o 93T 3T AT A H AR
¢) @Ol w111 iif) TrETAT

d) s atmr IV iv) Ul 3T AT o aTier

&) T atEr V V) e

f) wHret et VI vi) TiEe

a-v,b-vi,c-ii,d-iii,e-i,f-iv

a-v,b-vi,c-ii,d-iii,e-i,f-iv

a-v,b-vi,c-iv,d-ii,e-iii, f-ii

a-v,b-vi,c-iv,d-ii,e-iii, f-ii

a-iv,b-vi,c-ii,d-iii,e-i,f-v

a-iv,b-vi,c-ii,d-iii,e-i,f-v

a-v,b-vi,c-iii,d-ii,e-i,f-iv

a-v,b-vi,c-iii,d-ii,e-i,f-iv

Correct Ans : B

Subject : BS-B

Q.No: 30 Which of the following is incorrect reasoning for making changes to list of standard drugs?

3010567

TS qaslt o gt & uiadd e & o Fafafed 8 § o9 o 7o 7 2

Diseases which were previously not treated are now being treated

o Srarfal &1 ygd gars A Shar UT, 39 IHT gere fhaT o 39T @

Budget constraints do not support purchase of the same drugs and cheaper alternatives are needed

quie Pt FU TAH Farait Y T BT TaST T FI 2 3R T fAwedl Bt srazgwar @

Availability of newer drugs




< garsl BT IJueeEr

Preference of brand drugs by the patients

Al gRT s garsit Bt wrufdear 3T
Correct Ans : D
Subject : BS-B

Q.No: 31  Which of the following options correctly states the 5 dimensions of holistic healthcare?
3010568

Fafifad & o a1 fibed Try Wreg a1 & 5 M &) TE <71 F Fdrar 8?2

Nutritional awareness, Physical fitness, emotional wellbeing, Stress and awareness management and self responsibility

A
Nutritional awareness, Physical fithness, Stress and awareness management, Environmental sensitivity and self responsibility
B
W SReFT, IRIRE freaw, a9 3R SRrEwar veeE, Tafavr Sdeitaar o sire et
Physical fitness, emotional wellbeing, Stress and awareness management, Environmental sensitivity and self responsibility
C
Nutritional awareness, Physical fithess, emotional wellbeing, Stress and awareness management and Environmental sensitivity
D

Q0T SRe®dl, ARR® e, U TdH® HaTs, 9919 3R SIRehdT Yau 3R qafaor Hagierdr
Correct Ans : B
Subject : BS-B

Q.No: 32 Which of the following is NOT a characteristic of prokaryotic microbes?
3010575

Fofifed & & o @ dsiafes gereial o faivar 78 32

Absence of nuclear membrane

A
Ty freet @ srguRufa
Vacuoles rarely present
B
RefreTd g € St i &
Presence of chromosomes
C
TOREAT BT IufAf
Complex cellular composition of the cell wall
D

Pk fuftr 1 sifea SR ST
Correct Ans : C
Subject : BS-B

Q.No: 33 Which of the following components present in the cytoplasm of a bacterial cell is responsible for the principal sites for respiratory enzymes?
3010577

SHaTy] BRI F HIRIBE B Ao FEiad § I S 91 geh 49 Tl & U 591 ®d & e fRimer 32

Ribosomes

NESIGI]

B Mesosomes



e

Vacuoles
C

fefrreTd

Nucleus
D

BURCH

Correct Ans : B
Subject : BS-B

Q.No: 34 Anthrax bacilli are spore bearing, non motile microbes that cause the anthrax disease in humans. Which of the following is NOT a type of
3010579 anthrax disease prevalent in human beings?

e SRyl Aoy RO HA a1, R i gerela € S At & e 1T 1 HRU a9 ¥ Fafiied # ¥ B9 1 aa A vefid 1e A B 0 THR
X

Hepatic anthrax

A
FfRw Tlww
Pulmonary anthrax
B
T el
Cutaneous anthrax
C
g e
Intestinal anthrax
D

Elef ey
Correct Ans : A

Subject : BS-B

Q.No: 35 Patient visits the doctor complaining for high fever, increased sensitivity to light and stiffness in the neck. Upon physical examination, you noted
3010580 the heart rate of the patient was on the higher side. Physician ordered for examination of the CSF, pus and nasopharyngeal swab and sputum.
Based on the patient outlook and physician recommended testing, which of the following is most likely true:

RIS O TER, A2 S Ul Fae=ferar # 3 iR T H sibed 31 Ribrd AR Siaex & UN Wil 81 AR Wi B W, 10 IR {5 7S Bl ged
it off| fftreaes 3 Tiewuw, Harg SR TRIHITT W 3R Y B g B3 BT A foaT| T & =DHn ofR Raftrerss gRT G T o e & MR
R, FofifEd § 3 a9 9 9ad e I8

Conjunctivitis caused by the pathogen staphylococci

A
IS RPN F SR A €T ATRAHATINY
Conjunctivitis caused by the pathogen gonococci
B
IS MBI F SR G aTT ATIAHATNY
Meningitis caused by the pathogen bacillus meningitidis
C
I IRE AR ¥ FrRU R arar Afemsfew
Meningitis caused by the pathogen Neisseria meningitidis
D

Ao AR AfRRfew & wrur e aren Afesfew
Correct Ans : D
Subject : BS-B

Q.No: 36 Which of the following diseases cannot be mechanically transmitted via vectors?
3010587



Fofifad & & a1 0 Fifie TU J J9ex & gy J i TeY fhar 5 gebdr 82

Yellow fever

A
da-saR
Typhoid
B
CIRPISS
Tuberculosis
C
&9 1/ Tafew
Kala Azar
D
BTl 3SR

Correct Ans : C
Subject : BS-B

Q.No: 37 Which of the following factors does not influence infection?
3010588

Fofifed & ¥ $F T FRS THIu &) gHIfad T FHear 82

Virulence of the microbe

A
gewoita Bt fywmoper
Number of invading microbes
B
SMFAUST GEANA Bt T
Site of infection
C
TpHUT BT R
Immunity of the host
D

Aorar @t wfeRam
Correct Ans : C

Subject : BS-B

Q.No: 38 In nursing informatics, what is the advantage of utilizing electronic health records (EHR)?
3010595

IR G R #, soe @R ReTs (STASIR) BT TGN B $T 31 A1H 82

A worsening of the nurse-patient bond

A

TH-3f waY @7 farsn

Higher prescription prices
B

I T FI FAd

Better communication and time management
C

YgR HIR AR THT FEET

A greater frequency of medication mistakes
D

a1 @t Tafea it ifte smaf
Correct Ans : C
Subject : BS-B



Q.No: 39 A nurse is using an electronic health record (EHR) system to prepare a patient's medication. She observes that the system notifies her of a
3010599 possible medication interaction that she could have otherwise overlooked. Which major advantage of nursing informatics is this example
highlighting?

o T It P ga1 TR B B R T gaaeive @y Rere (STH3iR) YUmel &7 UGN &R ! ¢ 98 Td! ¢ b Humel I Ueb GHITad <ar siaeid & sk &
e el 3 O a8 ST S R Gl At U8 Ierexvr ARAT YaA fage & 59 UgE vy W U STedr 87

Lower prescription expenses

A

e wd wa w¥

Enhanced patient satisfaction
B

Ih 1 w@gf® # gf

Lower medication mistakes
C

gar "t Trafear w8 HRAT

A heavier workload for nurses
D

i ¥ g aiftre FrRIWR
Correct Ans : C

Subject : BS-B

Q.No: 40 True or False: It is anticipated that the workload of nurse informaticists will go up significantly as a result of the implementation of robotic
3010600 process automation in the nursing field.

T A1 TTed: T AT I o @ 1% AR & A e ufthan wEeH % i & uRumReRe Y T GEAIfae) B SRYR HI6 §¢ Se |

True, automation directly reduces nurses' administrative tasks.

A
I 3, Warad W IR W 76 & YIS Sl B $H $Y ol
False, robotics will not affect nurses' workload levels.
B
3w, AeifeTd T & FRIVR TR H ywifaa 78 s
True, but only in intimate or small-scale medical environments
C
I %, AP Faar o a1 Sie Fum R Rafeswn ararawor §
False, since automation aims to eliminate physical labour.
D

3 8, TP WaaTa BT IRY ARING 97 I WU H1 &
Correct Ans : D

Subject : BS-B

Q.No: 41  Which of the following ideas is crucial to optimizing the overall user experience in nursing informatics?
3010607

AR e fom & THY Ui Sigyd Y 3rdied A & e FEfifad # ¥ B a1 iR dewayf 82

Technical expertise alone

Fad db-et faRiagrer

User-centred design and usability assessment

STURTGAT Hisd feemg 3R ITGRar qeaie

Adherence to conventional nursing practices to the letter



uRufYe ARfT gt #1 e

A greater reliance on documentation on paper

P TR FAET TR Sifie Fafar
Correct Ans : B

Subject : BS-B

Q.No: 42 1In an attempt to enhance clinical decision-making, a hospital deployed a new EHR system. Nonetheless, nurses expressed discontent and
3010608 longer documentation times. What could be the main cause of this discontent?

A1t oy A7 B g & TIR B, T SRUdTH 3 T A3 STSR FUIRtt Y 1 famar) R oft, 7 7 sriiw soad o ofR caraeiianRr B |l THg STl 59

ST BT T HRO T & Thall 82

Absence of sophisticated data analytics
A

uftepa T Rigdwor & srarRify

Insufficient guidance and assistance
B

e anieRA ok wgrgar

Elevated upkeep expenses
C

ITRTEE R g I T | gfS

The absence of nurses from the design process
D

FoeeT Wi & i 8 argufRufy

Correct Ans : D
Subject : BS-B

Q.No: 43 A medication made from the opium poppy is provided to a patient who suffers from persistent pain. Which of the following best describes the
3010619 ctive alkaloid that reduces pain?

AR <& & RS I0h o e Toe™ F &t gar & ot 31 Fafifed & § o1 1 Ifby siehraiizs ol T 3T qui- Bl 8 S ¢ bl b Pl 82

Quinine
A

e

Atropine
B

Leiin]

Morphine
C

wif=

Vincristine
D

fafredia

Correct Ans : C
Subject : BS-B

Q.No: 44 A doctor is thinking about prescribing a medication that has to withstand acid reflux disease. Which of these formulations is best for this
3010620 jtyation?

T Slaer Ui Ry SRt @ Fiues & e U o ferem & o) & G 61 81 5798 @ &1 I BidasH 59 Ry $ g gad erms1 82

Enteric-coated capsules

ehe-oies S



Sublingual tablet

B

qafiTed dede

Powder form
C

IS BIH

Cream or ointment form
D

P19 a1 SiigeHe pid
Correct Ans : A
Subject : BS-B

Q.No: 45 True or False: The main application for alkaloids, which come from plants like vinca and belladonna, is sedation.
3010627

T T 3 Tehalegd, St AT 3R JATSHT 99 Well § 3d €, BT TR ITART Jeiit & o fapam o &1

True
A

ad

False
B

A

Slightly accurate
C

disT wdw

Can only tell if the dosage is known
D

Faa Tt 5o FHA § 9T GRS I §
Correct Ans : B
Subject : BS-B

Q.No: 46 Out of the following medications, which one is most likely produced from an animal source?
3010628

Froffad el 8 § 11 O ga1 9ad sifire Uy Oia & Ianfed gt 22

Insulin
A

=

Reserpine
B

YRS

Quinine
C

forre

Digitalis
D

feforefera

Correct Ans : A

Subject : BS-B

Q.No: 47 Out of the following, which reason best explains how an antagonist stops an agonist from acting at a receptor site?
3010639

Fofifad ¥ @, B I BRU Yo 3T a1 § 5 H9 T ufauelt te RApR Tge R & 737 F U6 TfRe &1 Al 872

A It increases the agonist's affinity for the receptor



g AW & R Tifore #Y arefiaar &) gemar €

It blocks the receptor without causing a physiological reaction

B

g IR ufafar der fre AT RAw @t savg e daT @

It lessens the receptor's intrinsic activity
C

Tg PR Bt sriafve Tfafafy t 0 a1 §

It activates a different mechanism for the drug's effect
D

g a1 S UHTT F AT TP 3ol o7 1 Whbg a1 &
Correct Ans : B

Subject : BS-B

Q.No: 48 If a drug that normally causes depression of the central nervous system (CNS) is given intravenously, which type of response is most likely
3010640 expected compared to its oral administration?

I P a1 o T U F HE w1 7F (FTUw) F GG B HRU T 8, I RR1 F9 F fmm e 7, O 39 9w TR @ gon # 6 uer
3! ufafhar 3 T8 i I 82

Localized effect at the site of administration

A
YR & R TR RFAET gHE
Reduced CNS depression due to faster metabolism
B
A TATIIT F FRUT HH HICACH AT
Enhanced CNS depression due to rapid systemic distribution
C
e yomrefhra fyavor & R 9e1 gon WeAew sadrg
No pharmacological effect due to bypassing the GI tract
D

SHag Uy B U FIA F PR B Nuehiy yua TE
Correct Ans : C
Subject : BS-B

Q.No: 49  Which of the following descriptions of the function of hair in the integumentary system is true?
3010647

it Ren & a1e & B &1 Fufifad & § o a1 e we 82

Live cells that actively divide make up the majority of hair cells.

A
wfirr wu & Rt 8 arclt SHfaa SR sfteis ara SRR g &
The sensory feedback that hair provides is its main purpose.
B
I wfafrar & 9T UET BeA & 9% SHPT TET o7 B
Human body hair serves no real use.
C
e TR & ST BT B aRafds ITANT T S 21
Hair helps in shielding the skin from UV rays and environmental harm.
D

e @ B gdt (UV) Rl 3R wafaroiia geam & 99 # dae 3 B
Correct Ans : D

Subject : BS-B



Q.No: 50 A purse assesses a patient who recently underwent surgery. The patient’s incision site is warm, red, and
3010648 cyqjien The patient also reports increased pain at the site and has a fever of 101°F. Based on the assessment,
what is the most appropriate nursing diagnosis?

U A U Al F A Bl o ST g1 81 7§l g5 &1 W F o wurer on, wre
3iT FIT G BT &1 U FT W TAA W &G o g6 v ¢ 3 3 101°F FT q@N & g
AEATHA & O W, FaY STIFT A g F4T §7

Risk for Infection

A
FPHT BT TeRT
Acute Pain
B
dad
Impaired Skin Integrity
C
@ P srEsd § BH
Fluid Volume Deficit
D

&9 ar B St
Correct Ans : A
Subject : BS-B

Q.No: 51 An elderly patient experiencing shortness of breath and pain is being managed by the palliative care team, working closely with his oncologist
3010813 manage the symptoms. The team includes a dietitian and physiotherapist as well. What is the main goal of the palliative care team in this
scenario?

T B} TG 3R &E BT 3IHT FA AT T JopT AT BT RIS SHTT S gRT Wil foram S @7 7, S q&o o) Jeifiid oy & fT oo sifpieione &
Y FddR S IR I8! &1 A A T 3MeR Ay iR RefvmidRie of wnftre 81 50 uRexa & y=mie RauTe 9 61 IR 96T 7T 82

To prolong death

A
T 3 w1 W ¥ g
Aim at treating the cancer
B
FER BT TAT TR BT AT
Improving the patients’ quality of life
C
A & e @t qoraTr § gUR
Find methods to help alleviate pain
D

¢ B T T § Ueg A & add @IoAT
Correct Ans : C
Subject : BS-C

Q.No: 52 An elderly woman with advanced Alzheimer’s disease is under palliative care. Her family is struggling to make decisions about her care and is
3010815 nsyre about the best course of action when she can no longer make decisions for herself. What tool could be useful for this family to ensure
the patient’s wishes are respected at the end of her life?

I STEHR AT ¥ ST T Iupf AR SURTHS @I B 1 ITHT URGR ST GW@HTd & IR F (o 37 & e T o ¥e7 7 ok o1 a5 a1 o Fof
T & Tapel! A e PRAE F IR B AT 71 39 ukar & i ag GRa w3 F g $F a1 SusRor Suanh 8 ged ¢ i It 3t siteq & ofd F suat
BT BT TR o wme?

Communication with the healthcare team

WA SWUTE 9 & 1Y TIR

B Hospice care referral



wRuTA AR BT T F g Ay S

Advance directives

3/ anyfre frdw

Palliative sedation

YRS IEI HA Bt fpar
Correct Ans : C
Subject : BS-C

Q.No: 53 A patient with advanced motor neurone disease is admitted to a palliative care unit. The healthcare team discusses the importance of having a
3010817 ommunication assessments to ensure that the patient and family understand the care plan. Why is a communication assessment critical in this
case, according to NICE guidelines?

Tiex IR T (WS a1a I B SUNHS @I & o Srerret & el fapam ST 81 Wed JaT 3d U IER i & Hed W T4 SR ¢ dlfh I8
AT frar o1 O 5 It 3R aRaR TEuTa deHT 3 IEEa €1 T o, . €. Rl & oruER, 39 A & Ue I9R gedie Aeayul & 82

To convince the patient to accept treatment

A
Mft 1 ITIR WPR F7 & forg 79 & frg
To ensure the healthcare provider can deliver bad news effectively
B
Tz YT F3 ¥ e & warea dar yerar 78 @R S gurd 1 § fafa # gear @
To guarantee that the healthcare team’s communication is aligned with patient values and priorities
C
Tg gy s ¥ fe i wrea a1 ga &1 FER Ah geal R wrufrearel & ary Wi@a @
To enhance the patient's compliance with medical interventions
D

fafrem swaaal & Wy Wh & guTe $) TeM & g
Correct Ans : C
Subject : BS-C

Q.No: 54 Where can palliative care be provided?

3010818
IURIHS ST P! UG BT o Gebell 82
Only in hospitals
A
Faa sraral &
At small Primary Health Centres, homes, and hospitals
B
B e warRa Fa, W SN srewaral ¥
Only at home
C
FIA W W
Only at referral hospitals
D

Fad YR RTarat A
Correct Ans : B

Subject : BS-C

Q.No: 55 What does the National Health Policy (NHP) 2002 focus on in terms of health care for older persons?
3010825

I T A (TwEdh) 2002 9% fRE F R W Ty & g J 5 R am Hied s 72



Primarily promotive and preventive care

A
TBI FU A Wme R FaR® @Ha ®
Curative and rehabilitative measures only
B
Fad ITARTHS 3R T1aTH F IUF W
Preventive, curative, and palliative aspects of care
C
TG & AR, STARTAS R IUMHF F Ugq W
Exclusive palliative care programs
D

iy U= T@UTd T W
Correct Ans : C
Subject : BS-C

Q.No: 56 After five years of treatment, a patient’s cancer begins to progress again, and he/she experiences back pain. The healthcare team recommends
3010826 radiotherapy and pain relief. What is the primary aim of these interventions during this stage?

Ui I & IUAR & qIG, Th I BT HIR R § 767 @ar 7, 3R IV NS &< BT 3IHT giaT 81 [ JaT g ASARW IR 3¢ ¥ Wed &1 Jarg ar 81 39 RO
% SR & gEIaN &1 Wil I T 82

To cure the cancer

A
FIR BT 3T P & g
To provide temporary relief of symptoms and delay further progression
B
&I Bt IR IET UG I 3R FER P13 g A 3 F F g
To reverse the cancer's spread to other organs
C
= T F FIR F TER B A9 F g
To prevent complications related to other organs such as the liver and kidneys
D

THa R TS AN 37 3 | Tefa wifeqansit & w1 & g
Correct Ans : B
Subject : BS-C

Q.No: 57 What is the most likely cause of illness in a child experiencing fever and presenting with a rapid respiration of => 60 per minute?
3010833

TF T $ gER 9 R 1fd fiFe =>60 B A9 T9 O F IR g W SR 1 9y GHIfad SR R 72

Malaria
A

wafvar

Jaundice
B

iferar

Pneumonia
C

it

Typhoid
D

CIIPISS

Correct Ans : C
Subject : BS-C



Q.No: 58 What is the preferred site for IM injection in babies and infants?
3010835

TRI3T SR Fawrd Rregait & METH oA F AT e = $ 91 2

Anterior lateral thigh

A
ydora uryf s
Posterior lateral thigh
B
LERIER ]
Gluteal muscle
C
Tqfeaa At
Deltoid muscle
D

Ieigs wiwoRt
Correct Ans : A
Subject : BS-C

Q.No: 59 Which of the following is NOT a critical factor in selecting a site for venipuncture while administering IV in paediatric patients?
3010837

T AR F omdt (1v) FT Tey HRA T IR F T R &1 799 w7 § ol § I S99 91 qeayyl sRe T 82

Skill of the healthcare provider

A

A 4T UGl BT HIRra

Duration of the therapy
B

faferear @t erafir

Site of action
C

fopar &1 wMA

Patients’ age and size
D

Al Bt ey R PR
Correct Ans : C

Subject : BS-C

Q.No: 60 The treating paediatrician recommended an NG tube for a child experiencing respiratory distress. Which lying position should you encourage for
3010838 the child?

IYIR P el & A7 FAAT 7 i o H dheiith B SFIHT PR ATl T & [ Toll g B RIBIND $ | 3fTUH] 9= B e ag 3 <ie i RUfA F 7@
Elii

Lying flat on his back

A

Y & g e der

Lying with slight feet elevation
B

A BT AT FHWR FSTHR AT

Slight head and chest elevation
C

RR 37 B B AdigT FW IoMT

D Slight head and feet elevation



RR 3R R Y A1 IR I8
Correct Ans : C
Subject : BS-C

Q.No: 61 As a SANE certified forensic nurse, which of the following evidence is NOT required to be collected from the victim?
3010845

TH TF. T. T, . (SANE) TG GRS T & & ¥, tifsa § Fafafaa § 3 319 91 W1eg e o 31 31aaehal Tei 82
Swabs of bodily fluids

A
TR @ verd & T
Hair samples
B
e & T
Clothing
C
qw
Fingerprints
D

Juferat & frm
Correct Ans : D

Subject : BS-C

Q.No: 62 Which of the following principles of forensic science are incorrectly defined:

3010846
Law of originality: Every object has some uniqueness that cannot be matched with others
Principle of exchange: Traces are always left behind in a crime scene

Law of scrutiny: Need for accurate packaging and sampling for use by experts

Law of probability: Likelihood of various events or scenarios in relation to evidence

BRR fagH & Fafaied & S o 3 Rigid Tod e ¥ oRufya &

Tt &1 Faw: Tde avg § oo IR S § PRt gom gorl @ 7 &1 o1 Fet
EH-UEH BT Rigid: SoR1Y @l W R gz 1 ge o §

S 1 fram: R gRT ST F R 9t IBRAT SR T # savasmar
HHTeTT 1 FaH: wieg & ey § fafte geelt a1 uReal #t guma

Law of originality

A
e @1 Fram
Principle of exchange
B
fafma &1 Rrsia
Law of scrutiny
C
ST BT S
Law of probability
D

iHTegaT &1 faw
Correct Ans : D
Subject : BS-C

Q.No: 63 Which of the following are correctly described 4 R’s for nurses dealing with trauma patients?
3010853



Fofifad & F & a1 mard A ¥ Fue ardt 79 & Riw 4 oR &1 9 auf wRar 32

Reflection, retribution, regulation, rehabilitation

yfafds, ufesity, fafge=, gaata
(Reflection, retribution, regulation, rehabilitation)

Realisation, recognition, response, resist re- traumatisation

g, T, wfafesan, g smara &1 favty
(Realisation, recognition, response, resist re- traumatisation)

Response, relaxation, reconciliation, restoration

ufafsan, fasm, gors, Terelt
(Response, relaxation, reconciliation, restoration)

Reassurance, re-evaluation, restraint, recovery

(Reassurance, re-evaluation, restraint, recovery)
Correct Ans : B

Subject : BS-C

Q.No: 64 Your patient experiences extreme anxiety and frequently hesitates to divulge private health information out of fear for their privacy. What steps
3010857 ghould you take in light of the Code of Ethics?

IS A BT e i gt B SR I SRR 3ot Ao & &R okt Wared wHet 37 B fFafan 81 SmeR Ifitar & TR 3Ud! 1 HeH So d1iu?

Disregard the worries and gather data.

A
feiaraff ) TR Y R 3T 3T B
Assure confidentiality and exchange details exclusively with authorized professionals.
B
Mo-igar gRfEa w¥ 3R Faa fipd IRl F ary fawor amgn w31
Refuse care until all information is disclosed.
C
W % A WFBR ST GAMT 9 gl 1Y, 99 96 S@HTA | 741 B
Ask the family for more information.
D

IRaR ¥ WIeT ISR A
Correct Ans : B

Subject : BS-C

Q.No: 65 Your patient belongs to a vulnerable group and is unclear about their treatment alternatives. In this case, what should you prioritize?
3010858

STIEHT I T FHGIR TUE T Vel § 3R 7 IUIR et & IR & Wy 76l 81 39 AW H, MU {59 a1d B wrifiyesar ot =ifge?

Give them a general course of treatment.

A

I% ITAR T TF WA B &1

Keep the explanations simple, but defer to the physicians' judgment.
B

TS B WA 3, Afp Rifrast & Fofg 5 era )

Speak out for the patient and help them make decisions based on information.
C

AN F T T B R TS F R W Fufg a1 & 3T 7eg Y

D Continue the therapy without consulting the patient.



Mt A Wt fpy T SR wRt @)

Correct Ans : C
Subject : BS-C

Q.No: 66 As a nurse, you are feeling overwhelmed by your workload lately and you are concerned about your ability to provide safe care. What should
3010865 you prioritize, according to the ICN Code of Ethics?

T T F wUH, 37 719 € F U B F el F AT TegT B V@ € SR MU QRIE I@UTH UG B BT AU a &Y daR Rifad &1 e SR
TfRdT & STUR MU R yrifiiear &t anfee?

Work harder to manage the workload.

A
PRIUR B Y&fta S & g oiftres g1a a7
Seek support to maintain your fitness to practice.
B
3 & Y 3ot e 9E 3@A & for awedq wid|
Ignore your feelings and continue to push through.
C
SOt HraTS TR e 7§ SR S we WY ¥ |
Reduce patient interactions in an attempt to reduce your stress.
D

3T TG B HH B & TAR & A & WY qTadid $H B
Correct Ans : B

Subject : BS-C

Q.No: 67 You recently came across a colleague who frequently displays unethical behaviour towards their patients. How should you respond in
3010866 ;ccordance to the ICN Code?

TIHT BT & H TP TeDHH! bl THAT BT TST ol SRR (U A & vl aifaes sagR velia oear 81 o, . T3, IRaT & SuR 3o H9 ufafear
aifee?

Report this unethical behaviour immediately to your supervisor.

A
39 IS IIER & IR H g U7 Tierd b g B
Ignore it since it does not involve you directly.

B
T T FY Ffp T oy W e T A F
Confront the colleague in front of the patients.

C
ARG F A Sru AEHHT BT HHAT I
Discuss it casually with other colleagues.

D

3T Wil & A1y 39 TR faR-famst w31
Correct Ans : A

Subject : BS-C

Q.No: 68 The goal of a community health program is to encourage seniors to be physically active. Which tactic supports this objective?
3010877

YGRS [T SHHH B 767 RS TRRGT Bl ARRS T ¥ b 67 F T iianfed o1 81 BiF I I 39 I3 &1 T el 82

Seniors being kept away from taking part in active exercising groups

TRty AR B |FT am WHEl ¥ YN a9 | g1 39T o1 @1 @

B Health education on the advantages of exercise



RTH & A4 IR TRy Riar

Medical care provided for all senior citizens

Heft aftg Ariet & fore e 3@vma v #t

Providing fast food discounts

BRE & W YT UaH HRHAT
Correct Ans : B
Subject : BS-C

Q.No: 69 A local health centre is struggling with resource allocation for a new community initiative. What key aspect should guide their decision-making?
3010878

TF WY W $% U6 T8 GHEas Usd & o Gu1eE 3ided & 91y Tuy o 38T 31 3% Mufg o F o fra v ugq &1 anfexi= der aifge?

Personal preferences of health workers

A
RS Hal B T wrafiearg
Community health needs and cultural sensitivity
B
Previous initiatives that were unsuccessful
C
ot wga St srwe @Y
Trends in national health policies
D

P Ty Aifedt § w3
Correct Ans : B

Subject : BS-C

Q.No: 70 Given below are statements with respect to paediatric tinea capitis. Select the incorrect statement:
3010885

q1q fafrer fefar Hfew & Ty & sum = 3w T §1 7Tod Y &1 I97 B

It is a fungal infection of the scalp and hair follicles

A

g WUS! R TTal F AW BT TS BIA WA &

It is primarily seen in children before puberty
B

g 1 U & T § YarawT & Ugd 3@ ol 8

The lesion up to 2 inches in diameter appear as a single inflamed patch on head
C

2 9 o q% &1 U9 RR W & Yo a1a 4= & &9 § fe@rs dar @

Treatment includes oral administration of the drug griseofulvin for 6 - 8 weeks
D

IR ¥ 6-8 YT & fore Aripieas qa1 &1 Wife® v i 81
Correct Ans : C

Subject : BS-C

Q.No: 71 Which of the following idea is true for community health nursing but not for community-based nursing?
3010886

Foffad & 3 o @ iR angerfie wreg TR & R 98t € fe ggem-snuia AR & e 72

A Patient is himself/herself responsible for their self-care



it et AT & R W R @

Hospital-based care

B

ST SR J@UT

Application of public health sciences
C

A T fawT P SR

Focus on patient-only approach
D

Faa If BT W =
Correct Ans : C
Subject : BS-C

Q.No: 72 With the growing use of virtual reality (VR) and augmented reality (AR) in nursing education, which of the following do you think is a key
3010897 penefit of using these technologies?

AR e # SR aRafddr (d1R) SR Faftfa arRafdwdr (TeR) F Tod STIRT S Y, ST 1 AT & [ 57 qb-1icb! BT IUUNT PR HT T&I AH
T A w e

AR and VR makes it less necessary for patients to engage with doctors

A
TIR 3R fR 7l & T STt & WY Y1 F4 HExTH a6
These technologies lengthens the patient wait times
B
3 Tefifdat Af & yehen wwa B qer &ft ¥
AR and VR offers immersive simulations for instances where nursing decisions need to be made
C
TR R FHR T Igrervil F oy suRfa KA werm #wa & wei aRkfn fvfg a9 3t smazgwar g1t §
They restrict students' capacity to use clinical reasoning abilities
D

3 B 31 ASIF aF AT BT ITANT FIA B T HI UfElUT HRa
Correct Ans : C

Subject : BS-C

Q.No: 73 What role can technology like mobile learning play in today's nursing education?
3010898

et Y AR g & Harge AT St dobites @ yffet Ay gewdt 82

Mobile learning can completely get rid of classroom-based learning.

A
Warsd affr @ ave | ean-anuia affT § gesRT o ged 2
Mobile learning allows students a convenient way to access learning resources from anywhere and at any time.
B
Targa af+iT ol B T A oft 3R i ot THg WA & Tl 9% UgER BT UF YRYHS ateT Uer T gl
Mobile learning restricts the interaction of students with an actual teacher.
C
arga affr arafas Rige & wry o @t ardia s wfasfa s g
Mobile learning can reduce the effectiveness of learning that happens beyond the classroom.
D

wfo=iie SifRATH wem | W EF ara SRR F yuTaRiierar B $9 $ THar 21

Correct Ans : B

Subject : BS-C



Q.No: 74 Which of the following best describes augmented reality (AR)?
3010905

Fufifad d§ § oI Jaftfa arafdedr (TR) 1 Jod 3T qui ol 82

It produces a completely immersive virtual environment in which the outside world is invisible.

A

g TP T8 @R W g gU MUK araraRr o1 forafor wear @ Rrad aed givan srexa gkt 81

It adds virtual content to the user's real-world environment through digital overlays
B

Ig fEfrea sifava & ATww & STANTHl & IRAfI® giaT & raraRer & U arel siear §

It requires a head-mounted display and offers 360-degree interactivity
C

TS Ry To-wrels R Y aravasar 81t @ o 7 360-F5t SRXRRA e wear

It combines the real-world and digital worlds so that users can interact with them.
D

g Irafas g R Rfea g #1 siedt @ a1 SwaRTeal 379 a1y arasid w2 TF |
Correct Ans : B
Subject : BS-C

Q.No: 75 A nursing student is practicing patient interactions and clinical reasoning in a fully immersive setting with a head-mounted display. What kind of
3010906 gjmy|ation is the learner taking part in?

& R B Ye-Aees fRwd & Wy gt e A gARfa Al & A B arerEiia 3R Aae BT enarg w51 81 Riemll 5 e & SR § WA 3 1 22

Mixed Reality (MR)

A
fuf¥a arafdwar (MR)
Desktop Virtual Reality (dVRS)

B
SEperd STURT arafasar (SISR /dVRS)
Immersive Virtual Reality (iVRS)

C
TR adoret Raferdt (Smsdiemaa /ivRs)
Augmented Reality (AR)

D

Tafifa aRafa@®ar (TAR /AR)
Correct Ans : C
Subject : BS-C

Q.No: 76 A patient named John is experiencing extreme distress, unable to leave his home due to a fear of panic attacks. His distress is significantly
3010913 impairing his ability to go to work and interact socially. What component of mental iliness is John experiencing according to the case?

S TS T M i dieT BT 3HT FR 6T 8, Sl HeRIeT & gHal & SX U AT IR e # 3w ¥1 %1 S $1H W H 3R FHIIG =0 § s
PR B B! & B BB YHIFIT PR 6T &1 T AW & AR S AR SR F f6g geh BT 3[gHd I 6T 82

Dysfunction in cognition

A
w9 & PR a Riftear
Deviance in social behaviour
B
RIS HaER | faga
Dysfunction in behaviour
C

agR | Rif¥yaan

D Deviance in emotional regulation



YT e # fames
Correct Ans : C
Subject : BS-D

Q.No: 77 During a routine health assessment, a nurse documents that a patient is suffering from insomnia, inability to focus at work, and loss of appetite
3010915 gye to mild distress. The patient still manages to go to work but finds it increasingly difficult to cope with daily tasks. In terms of the Mental
Health Continuum, where would this patient most likely be classified?

T i TR Jeie F ERM, TP T axdlas B ¢ 5 T A s, ST W o $iid B § ormddr 3R ge Yo & BRU Y@ T @ B THw I
difgd 31 78 3t ot B W A S UTa € AP TP g R Bl b1 WA BRAT B3 Bl S @1 81 HHRIG W I & e #, 59 At Y Tuaa: wet

Fiffea foram sem?

Well-being
A

DT

Emotional problems/concerns
B

HIAHTEHS FHETY /Ry

Serious mental illness
C

TR Al SRt

Functional remission
D

TS e
Correct Ans : B

Subject : BS-D

Q.No: 78 Which technique is advised for evaluating impairments resulting from mental disease in the Diagnostic and Statistical Manual of Mental
3010917 pjsorders, Fifth Edition (DSM-5)?

TR JERT & Fem iR Ty} Agerd, Ud TR0 (DSM-5) # ARG AT T SO B1HaT & Jeaid & T 5 dob-is &1 Jame &t 718 82

GAF, or the Global Assessment of Functioning

A
Seew, a1 srdwet o1 3fye Teaie
Hamilton Anxiety Scale (HAM-A)
B
#ftreea fof W (TawEw-v)
Beck Depression Inventory (BDI)
C
o ¥ gded (dfSteg)
The WHO Disability Assessment Scale (WHODAS).
D

fay TRy WieH (SwUuusiSITgd) F1 Rwdimar geare tumT
Correct Ans : B

Subject : BS-D

Q.No: 79 Which of the following, because of its incapacitating functional impairment, is considered to be a serious mental illness?
3010918

Fofifad & 3 59, e smied srfes 81 & $RU, T 1R THRie SR @ o 82

Sleeplessness

e 7 e

B Anxiety disorders in general



I = ¥ i fder

Schizophrenia

Ryeiibforar (wuTeH)

Seasonal Depression

Tl ST
Correct Ans : C
Subject : BS-D

Q.No: 80 Which of the following is not a part of a neuron?

3010925
Fofied & I B <R o1 e 78 82
Axon

A
T
Cell body

B
I art
Medulla

c

agen

Dendrites

Correct Ans : C

Subject : BS-D

Q.No: 81 Complete the following sentence by choosing the correct option.
3010926
The small space between axon terminals of one neuron and cell body or dendrites of another is called

Foufafad e & 98 fime e T B
TF R & T el iR gIR & 9 1St 1 ST & o P BT TG B ERECISI

Synapse

Rrw

Synaptic cleft

Rt v

Pre-Synaptic neurons

! RAfts <RI

Post Synaptic neurons

re RAfts <RI~

Correct Ans : B
Subject : BS-D

Q.No: 82 Menopause is the permanent cessation of menstruation from the loss of ovarian follicular activity. Who gave this definition?
3010933



IR Sl Bt Hite T F THam 3 TRiE urf 3t vl v 71 g ufym e d?

IMA

A
Y
WHO

B
FRqUaSit
CCIM

C
wfterse
NCISM

D
LEEIEIEL]

Correct Ans : B

Subject : BS-D

Q.No: 83 Which of these drugs can aggrevate the chances of menopause?
3010935

0 q B U ga1 TONAGRT BT GHTEHT B a1 Tobd! 82

Chloropropamide

A
FARIVITAES
Tamoxifen
B
TRABT
Cephalosporins
C
JwaAreing
All of the given options
D

fow T Wit e
Correct Ans : D
Subject : BS-D

Q.No: 84 Which of the following is not a criteria for frailty?

3010937
9 & F P W HHeR &1 A0S Tol 82
Unintentional weight loss
A
S & a9 $H g
Self reported exhaustion
B
Qe | 4TS TS YPTaC
Osteoporosis
C
SRR
All of the given options
D

feg Mg Wit fawe
Correct Ans : C

Subject : BS-D



Q.No: 85 Which of the following is not a ideal laboratory test for diagnosis of menopause?
3010938

TSGR & Fer ¥ iy Fafdfed § 3 oF a1 o el yammier wdann 78 82

Serum - TSH
A

e - dgaT

Lipid profile
B

fafrs wwesa

Troponin T
C

g &

Hbalc
D

Tadie 1 it

Correct Ans : C
Subject : BS-D

Q.No: 86 Which foramen is enclosed by the body of pubic bone, the rami and ischium?
3010945

B A GREA e T, W0 SR 3%pan & IR J FR g 82

Anterior foramen

A
SIEd! BRI
Pelvic foramen
B
AT PR
Obturator foramen
C
SERYS BREAT
Deltoid foramen
D

SIS BREAA

Correct Ans : C

Subject : BS-D

Q.No: 87 Which of the following is a vestigial tail?
3010946

Frafifaa 3§ 3 B @ s do (AR 2a) 82

Sacrum
A

PrefRy/awa

Pubis
B

ufew

Ischium
C

Hieee

Coccyx
D

Eachic)

Correct Ans : D



Subject : BS-D

Q.No: 88 Which epithelium is present in the endothelium lining the uterus?
3010953

TR BT R I TSR § B W1 SuGdm oG gl 87

Squamous
A
o
Striated
B
4iaR
Ciliated
C
fafaerts
Cuboidal
D
SATTGAST

Correct Ans : C
Subject : BS-D

Q.No: 89 Which of the following is a function of placenta?

3010957
Frafered # 3 w el &1 o1 @ o1 87
Respiration
A
LR
Nutrition
B
Hryor
Excretion
C
Il

All of the given options

feg Mg w3t fawe
Correct Ans : D

Subject : BS-D

Q.No: 90 Complete the following sentence by choosing the correct option.
3010958
is a temporary opening between the atria which allows the majority of blood entering from the inferior vena cava to pass across

into the left atrium.

Fafafaa o 1 gl e gaax T &1
3felar & ot T SRl IgHIeT § S SR 31 HTaT I VIR FA a1 YT X 1 A anfeig & S Y SrAfa &l B

Ductus arteriosus

T AR RATH

Ductus venosus

e IAH

C Foramen of magnum



W a1 g

Foramen ovale

BREA i
Correct Ans : D
Subject : BS-D

Q.No: 91 What does GFATM stands for?
3010965

. Uh. T . uH. &1 o g2

Grand feat in AIDS, tetanus and malaria

A
Tgd, <o SR wafar # wFeR Syafs
Global fund to fight AIDS, tetanus and measles
B
T, 3TN SR T ¥ e & g e wiw
Global fund to fight AIDS, tuberculosis and malaria
C
TS, TR ok Hafar ¥ weR ¥ R 3fye wiv
Global fund for Arthritis, tetanus and malaria
D

afean, Teaw 3R Wl F e 3fs iy
Correct Ans : C
Subject : BS-D

Q.No: 92 Who identifies the key components and standards of a country’s health information system?
3010966

et =1 &) R YT YRt F T gedh! SR THd! B TS B Hral 82

WHO
A
Seguast
UN
B
kil
HMN
c
TEEHT
NCISM
D

. . . T, .
Correct Ans : C
Subject : BS-D

Q.No: 93  Which of the following committees recommended the posting of PHNs at PHCs?
3010977

Frofafed & @ fow affy 3 doawd # daes 1 fgfe 1 R s

Chopra committee

<rasT wffa

B Bhore committee



R |ffa

Santhanam committee

YT Aty

Unhone committee

S afafr

Correct Ans : B
Subject : BS-D

Q.No: 94 What is the fullform of DPHNO?

3010978

Sidfiwael @1 guf & @1 82

Deputy Primary Health Nursing Officer
A

I wrufie e AR it

District Primary Health Nursing Organization
B

forem wrufires T ARFT e

District Public Health Nursing Officer
C

foren wrdwie waea AR SRt

Deputy Public Health Nursing Officer
D

U AdES W AR st
Correct Ans : C
Subject : BS-D

Q.No: 95 Which of the following is not a leadership style?

3010985
Frofafed & @ o1 @ Aqa A T 72
Autocratic
A
g
Charismatic
B
wivaTs
Freestyle
C
wao et
Authoritarian
D

JTard

Correct Ans : C
Subject : BS-D

Q.No: 96 Who coined the terms transactional and transformational leadership?
3010986

-3 TR SR TREATPRY I e fhen Te?

A Hamilton



e

Macgregor
B
AFIR
Boult
C
die
Darwin
D
sifd

Correct Ans : B
Subject : BS-D

Q.No: 97 What are the side effects of psychosis?

3010997
Tl & gurHE & 87
Polyphagia
A
St A
Hearing Voices
B
STt G
Increased LOC
C
g1 g Tt
Dizziness
D
TFDhR AT

Correct Ans : B

Subject : BS-D

Q.No: 98 What does CAMHS stand for?

3010998

HIUEATETY (CAMHS) T Adds 1 82

Child and adolescent mental health services
A

T 3R frRiR wfe warea darg

Child’s action for mental health services
B

TR wWaTRg darsit & e o # FRars

Career and advice for mental health services
C

TR wWrRa darelt & e sRar ok war

Community and adolescent mental health services
D

AHERIF 3R PR AFRe Tarea Jard
Correct Ans : A

Subject : BS-D

Q.No: 99 Which of the following factors can influence the age of menopause?
3011005



Fofifad & ¥ $F T $R IR Bt IY S YHIfAd IR Gabell 82

Race
A
s
Reproductive history
B
oo gfogre
Use of OCPs
C
ST 1 STE
Smoking
D
LCRIE]

Correct Ans : D

Subject : BS-D

Q.No: 100 What effect does the age of menarche have on the age of menopause?
3011006

TSGR B IF R ARG i B AT BT IY BT T YHIG TS 82

No effect
A
PIE wuTT TE
Earlier the menarche, earlier the menopause
B
et sredt Tl o e g, il o S €t oot et
Earlier the menarche, later the menopause
C
Rt wret wifes ef = g, wsiifergfr of S € 3R @ €t
Later the menarche, earlier the menopause
D

g & TR, TEd v

Correct Ans : A
Subject : BS-D



